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Question Id : 87827024783 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

The following table shows the number of buildings constructed in six different towns A - F of a
state S over the seven years from 2016-2022. Based on the data in the table, answer the questions

that follow.
Town-wise Details of Buildings Constructed.

Yeart o6 o0t | 2018 | 2019 | 020 | 2001 | 2022

Town
A 13000 | 3160 | 3220 | 5272 | 3300 | 3320 | 3400

2500 | 2568 | 2640 | 2670 | 2792 | 2800 | 2900
2960 | 3000 | 3090 | 3100 | 3192 | 3200 | 3268
5448 | 3500 | 3600 | 3640 | 3664 | 3760 | 3792
2040 | 2100 | 2200 | 2230 | 2320 | 2350 | 2580
2277 | 2380 | 2460 | 2480 | 2530 | 2560 | 2588
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Sub questions

Question Number : 1 Question Id : 87827024784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Across the state 5, the total number of buildings constructed in 2016 is approximately
% of the total number of buildings constructed in 2018 ?

Options :

87827097841. 1
87827097842. 2
87827097843. 3

87827097844. 4

Question Number : 2 Question Id : 87827024785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the total number of buildings constructed in Town B over all the seven years ?
(1) 17870

) 18780

) 17780

) 18870
Options:
87827097845. 1
87827097846. 2
87827097847. 3

87827097848. 4



Question Number : 3 Question Id : 87827024786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

What is the percentage increase in the number of buildings constructed in Town D in 2018 with
reference to the previous vear ?

(1) 38 %

(2) 28 %

(3) 48 %

(4) 4%
Options :
87827097849. 1
87827097850. 2
87827097851. 3

87827097852. 4

Question Number : 4 Question Id : 87827024787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[n the context of towns E and F together, what is the difference between the number of buildings
constructed in 2021 and that in 2017 ?

1) 630

) 830
) 430
4 410

H=

Options :
87827097853. 1
87827097854. 2

87827097855. 3

87827097856. 4



Question Number : 5 Question Id : 87827024788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Total number of buildings constructed over the years from 2020 to 2022 is more than 8500 in
exactly towns,

1) 2
Q) 3
3 4
4 5
Options :

87827097857. 1
87827097858. 2
87827097859. 3
87827097860. 4

Question Id : 87827024783 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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2016 | 2017 | 2018 | 2019 | 2020 | 2021 | 2022

3000 | 3160 | 5220 | 3272 | 3300 | 3320 | 3400
2500 | 2568 | 2640 | 2670 | 2792 | 2800 | 2900
2960 | 3000 | 3090 | 3100 | 3192 | 3200 | 3268
3448 | 3500 | 3600 | 3640 | 3604 | 3760 | 3792
2040 | 2100 | 2200 | 2250 | 2320 | 2550 | 2380
2072 | 2580 | 2460 | 2480 | 2530 | 2560 | 2588
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Sub questions

Question Number : 1 Question Id : 87827024784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S T ¥, 2016 H R s 1 et e 2018  F41 e ot i ) o el W (%) 2
1) 81

) 94
) 84
§) 74

2
3
Options :

87827097841. 1
87827097842. 2

87827097843. 3

87827097844. 4

Question Number : 2 Question Id : 87827024785 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

TR B H 9 guf | fafdd el =t Fe1 den oo 22

(1) 17870

(2) 18780
(3) 17780
(4) 18870
Options :

87827097845. 1
87827097846. 2
87827097847. 3

87827097848. 4

Question Number : 3 Question Id : 87827024786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR D ¥ 2018  fAftq el i wen & a au A qorn A fre wawd 9fg g R 7
(1) 385 %

(2) 285 %
(3) 485 %
(4) 4%
Options:
87827097849. 1
87827097850. 2
87827097851. 3
87827097852. 4

Question Number : 4 Question Id : 87827024787 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097853. 1
87827097854. 2
87827097855. 3

87827097856. 4

Question Number : 5 Question Id : 87827024788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827097857. 1
87827097858. 2
87827097859. 3
87827097860. 4

Sub-Section Number : 2
Sub-Section Id : 8782701084

Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 6 Question Id : 87827024789 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which collaborative ICT tool allows user to create digital bulletin boards to share and gather
information ?

(1) X-mind
(2) Padlet

(3) Book creator
(4) Plotagon
Options :
87827097861. 1
87827097862. 2
87827097863. 3

87827097864. 4

Question Number : 6 Question Id : 87827024789 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
87827097861. 1



87827097862. 2
87827097863. 3

87827097864. 4

Question Number : 7 Question Id : 87827024790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : - In Round-Robin cooperative learning strategy, students work together to achieve
a common goal or complete a task,

Statement (1) : In group investigation cooperative learning strategy, students take turns sharing
their ideas, thoughts or solutions within their group.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

2
(3) Statement Iis correct but Statement II is incorrect
4

Both Statement [ and Statement II are incorrect

Statement I 1s mcorrect but Statement I1 is correct

Options :

87827097865. 1
87827097866. 2
87827097867. 3

87827097868. 4

Question Number : 7 Question Id : 87827024790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097865. 1
87827097866. 2
87827097867. 3
87827097868. 4

Question Number : 8 Question Id : 87827024791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Swayam Prabha channel (7 - Kautilya is related to which of the following subjects ?
A)  Economics

B) Library Science

D) Finance

E) Mathematics

Choose the correct answer from the options given below :
(1) (B), (D)and (E) Only

(2) (C)and (E) Only

(3) (A), (C) and (D) Only

) (8) () and (D) Only

Options:

(
(
(C) Commerce
(
(

87827097869. 1
87827097870. 2
87827097871. 3

87827097872. 4

Question Number : 8 Question Id : 87827024791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097869. 1

87827097870. 2

87827097871. 3
87827097872. 4

Question Number : 9 Question Id : 87827024792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

[n which strategy of cooperative learning, students are separated into an inner and outer circle
(In the inner circle, students have a discussion and students in the outer circle Listen to the
discussion) ?

(1) Snow ball

(2) Fishbowl

(3) Jigsaw

(4)  Think-pair-share

Options :



87827097873. 1
87827097874. 2
87827097875. 3

87827097876. 4

Question Number : 9 Question Id : 87827024792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097873. 1
87827097874. 2
87827097875. 3

87827097876. 4

Question Number : 10 Question Id : 87827024793 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the examples of Information Development Model ?
A)  Self Awareness Model

B) Gagne's Information Model

(
(
(C) Jerome Bruner's Model
(D) Schuman’'s Model

(E)  Group Investigation Model

Choose the correct answer from the options given below :
(1) (A) (D) and (E) Only

(2) (B)and (D) Only

(3)  (B), () and (D) Only

(4) (A4) (€ and () Only

Options:

87827097877. 1

87827097878. 2

87827097879. 3

87827097880. 4

Question Number : 10 Question Id : 87827024793 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827097877. 1
87827097878. 2
87827097879. 3

87827097880. 4

Question Number : 11 Question Id : 87827024794 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : The process of deduction involves drawing generalizable inferences out of
observations.

Statement (II) : Positivism advocates the application of the methods of the natural sciences to the
study of social reality.

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2

Y
(3) Statement I s correct but Statement II is incorrect
4

Both Statement [ and Statement II are mcorrect

Statement I is incorrect but Statement II is correct
Options:

87827097881. 1

87827097882. 2

87827097883. 3

87827097884. 4

Question Number : 11 Question Id : 87827024794 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097881. 1
87827097882. 2
87827097883. 3

87827097884. 4

Question Number : 12 Question Id : 87827024795 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the threats to the internal validity of an investigation :
(A) History

(B) Instrumentation

(C) Maturation

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (B) and (C) Only
(3) (A)and (C) Only
(4) (A), (B)and (C)
Options:

87827097885. 1
87827097886. 2
87827097887. 3

87827097888. 4

Question Number : 12 Question Id : 87827024795 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827097885. 1
87827097886. 2
87827097887. 3
87827097888. 4

Question Number : 13 Question Id : 87827024796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : Pearson's coefficient of correlation r' is a very useful measure of the strength and
direction of the relationship between two nominal variables.

Statement (I1) : Pearson’s coefficient of correlation ‘1’ always lies between 0 and 1.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement I1 is incorrect
[

4)  Statement I s incorrect but Statement I s correct



Options :

87827097889. 1
87827097890. 2
87827097891. 3

87827097892. 4

Question Number : 13 Question Id : 87827024796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097889. 1

87827097890. 2

87827097891. 3

87827097892. 4

Question Number : 14 Question Id : 87827024797 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following refers toa method of sampling in which a core group of participants who
are initially sampled for a research study recruit or recommend other potential participants ?

(1) Simple random sampling
(2) Snowball sampling

(3) Quota sampling

(4) Stratified random sampling
Options :
87827097893. 1
87827097894. 2
87827097895. 3

87827097896. 4

Question Number : 14 Question Id : 87827024797 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097893. 1
87827097894. 2
87827097895. 3
87827097896. 4

Question Number : 15 Question Id : 87827024798 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) :  According to UGC regulations 2018 on Prevention of Plagiarism, a student is
tequired to give anundertaking while submitting a thesis, stating that the document
is his/her original work which is free from any plagiarism.

Statement (1) : According to UGC Regulations 2018 on Prevention of Plagiarism, the research
supervisor is not required to certify that the work done by the researcher under
himy/her is plagiarism free.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct

2

2
(3) Statement I s correct but Statement II is incorrect
4

Both Statement [ and Statement II are incorrect

Statement I is incorrect but Statement II is correct

Options :

87827097897. 1
87827097898. 2
87827097899. 3
87827097900. 4

Question Number : 15 Question Id : 87827024798 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827097897. 1
87827097898. 2
87827097899. 3

87827097900. 4

Question Number : 16 Question Id : 87827024799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In conversations, relevancy maxim means rnaking :

(1) Metaphoric remarks

(2) Allusions

(3) Pertinent comments

(4) Rudimentary comments
Options :

87827097901. 1

87827097902. 2



87827097903. 3

87827097904. 4

Question Number : 16 Question Id : 87827024799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
87827097901. 1
87827097902. 2

87827097903. 3

87827097904. 4

Question Number : 17 Question Id : 87827024800 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Failure to understand the cultural environment can lead to :
(1) Information richness
2

(2)  Exhibitionism
(3) High-brow communication
(4)

4 Miscommunication
Options :
87827097905. 1

87827097906. 2



87827097907. 3

87827097908. 4

Question Number : 17 Question Id : 87827024800 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097905. 1
87827097906. 2
87827097907. 3

87827097908. 4

Question Number : 18 Question Id : 87827024801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The Buddhist mode of inter-personal communication emphasises :
A) Unfettered use of language

(

(B) Unintelligible moral frames

(C) Symmetrical relations

(D) Consensus through interaction

(E) Verifiability of communication

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3) (O, (D) and (E) Onl

(4) (A), (B) and (E) Dnly,r
Options:

87827097909. 1
87827097910. 2
87827097911. 3

87827097912. 4

Question Number : 18 Question Id : 87827024801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097909. 1
87827097910. 2
87827097911. 3

87827097912. 4

Question Number : 19 Question Id : 87827024802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : Paralinguistic features express emotions and communicate personality traits.

Statement (1) : The subtle use of vocal inflections can provide special significance to verbal
Messages.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement I s incorrect but Statement I s correct

Options:

87827097913. 1
87827097914. 2
87827097915. 3
87827097916. 4

Question Number : 19 Question Id : 87827024802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

@ o feu g

HO (1) : I feriod el <1 e Rl € iR S 3 o g R R
KU (1) : Ao TR o forseqm) i wifier 5wl 41 fadhy wea ¢ 9ok €
T e o it W, el feu U el 9 Warw UG F A A I
(1) FOAT S0 FOR 1S 7 2

(2) IR Ko 1 G Terd &

(3) FUTIHEI 2, i o 17T &

(4) TR 2, W Fo 11961 ¢

Options :



87827097913.1
87827097914. 2
87827097915. 3

87827097916. 4

Question Number : 20 Question Id : 87827024803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Match List - T with List - II.
List - I List - II
(Type of meta communications) ~ (Description/Example)

(A) Explicit () Anaggressive gesture modified with a smile

(B) Implicit () Comments on others communication behaviour
(C) Verbal () Sarcastic remarks

(D) Non-verbal (IV) Comments about non-verbal behaviour

Choose the correct answer from the options given below :

(1) (AH), (BHID, (CH{I), (DHIV)

(2) (AL, (B-{IID), (CHIV), (D)D)
(3) (AR, (B)-1V), (G0, (DKL)
(&) (AFV), (B}, (), (D))
Options :

87827097917.1
87827097918. 2
87827097919. 3

87827097920. 4

Question Number : 20 Question Id : 87827024803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Telt-1 o WY Gell-11 &1 foer i .

Toit-1 -1
(fy-wywor o bW ) (0T )

(A) TR () e & T adell T Uk S S
(B) dfifed () 571 T o FYo 7R R fewfir

(©) ?nfﬁaa (I11) S Sferat

(D) TR-mfee (V) TR-ufeceh e o ai H feofral

19 feu T forehedl & § WE I A1 T HIC

(1) (A}, (B)-(I), (CHII, (D}IV)

(2)  (A)ID), (B)-(ImI), (C)-(IV), (D)-(T

(3)  (A)-(IID), (B)-(IV), (O)-(T), (D)-(I)

(4)  (A)(IV), (B)-(D), (O, (D)-(m)

Options :

87827097917. 1
87827097918. 2
87827097919. 3
87827097920. 4

Question Number : 21 Question Id : 87827024804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A milkman buys 20 litres of milk from a dairy at the cost of Rs. 50 per litre, He also purchases some
mineral water at the rate of Rs 20 per litre and adds it to the milk. He then sells the adulterated

milk at the rate of Rs 60 per litre and makes a profit of Rs 400. What is the amount of water he
added to the milk ?

(1) 10litre
() 8litre
(3) 5 litre
(4) 4 litre



Options :

87827097921. 1
87827097922. 2
87827097923.3

87827097924. 4

Question Number : 21 Question Id : 87827024804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T e <A % 50 YT el o e § 20 it g e 2| 9 €20 W et &l < ¥ o e
i ¥ e & o g8 gt o o & €1 Ao o 91 %60 W i < 9 o R 2400 T
St e | S 3 ot e W o e o)

10 et

Options:

87827097921. 1
87827097922. 2
87827097923.3

87827097924. 4

Question Number : 22 Question Id : 87827024805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of letters which will complete the following letter series.
aabcd - - - bedbe - - - dedab - - -

(1) abaabcedd
(2) abcabacdd
(3) abaabdcdd
(4) abcadbbed
Options:

87827097925. 1
87827097926. 2
87827097927. 3

87827097928. 4

Question Number : 22 Question Id : 87827024805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
firet 1em e &1 qof e o foTu S1eRi & & STHY 1 A e

aabed - - - bedbe - - - dedab - - -
(1) abaabcedd

(2) abcabacdd
(3) abaabdcdd
(4) abcadbbed
Options :
87827097925. 1
87827097926. 2
87827097927. 3

87827097928. 4

Question Number : 23 Question Id : 87827024806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Total monthly salary of a couple (husband and wife) is ¥ 2.0 lakh. Their salaries are in the ratio of
5:3. It husband and wife spend 40 % and 20 % of their salaries, respectively, what is the ratio of
their savings ?

() 3:2

(2] i
(3) 5:4
( 1

2 1 O

4
Options :

87827097929. 1
87827097930. 2
87827097931. 3

87827097932. 4

Question Number : 23 Question Id : 87827024806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T 70 <01 (90 o ) 8 ot TR 070 2 2.0 7 81 7 o 4 W 5:3 81 e ofg & ol
S-S0 7 1 O 40 % 920 % 5P R 8 ) IR 9 4 9 N €7
(1)

2
3
4

3.
358
4

5T B R |

)
)
)

e B & 5 |

Options :

87827097929. 1
87827097930. 2
87827097931.3

87827097932. 4

Question Number : 24 Question Id : 87827024807 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding scheme :

‘Family values are important’ is written as “pa, ya, si, sa’
"Values are generally contagious’ is written as “ya, da, ja, sa’
‘Some diseases are mntagious’ is written as ‘ka, da, sa, ro’
What are the codes for ‘Contagious’ and “Values' ?

(1) da, sa

(2) da, si
(3) ka, ya
(4) da, ya
Options :

87827097933. 1
87827097934. 2
87827097935. 3

87827097936. 4

Question Number : 24 Question Id : 87827024807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T e @hiH 1,

“iftenfier ge mecyt € w1, W % w9 for 9w g
"I WG |G & 1, 1 S, 91 ok w9 H foran S e,
‘o T wighies & 1, @, 9@, ' % w9 foran g,
‘giafie’ 9 ‘gea’ % fau aF | Fe 77

(1) @&
(2) @, i
(3) LA
(4) T @
Options :

87827097933. 1
87827097934. 2
87827097935. 3

87827097936. 4

Question Number : 25 Question Id : 87827024808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the next term in the fu::llc:-wing number series ?
o Tl 0. B P e

(1) 176
(2) 155
(3) 142
(4) 186

Options :

87827097937. 1
87827097938. 2
87827097939. 3
87827097940. 4



Question Number : 25 Question Id : 87827024808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7 o *jEen § o1 ug R W T ?
3,14, 39, 84, ?, - -

(1) 176

(2) 155

(3) 142

(4) 186
Options :

87827097937. 1
87827097938. 2
87827097939. 3

87827097940. 4

Question Number : 26 Question Id : 87827024809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is arranged in order of increasing denotation ?
(1) Cow, bovine, mammal, vertebrate, animal
(2) Mammal, Vertebrate, bovine, animal, cow
(3) Vertebrate, animal, mammal, bovine, cow
(4)

4)  Animal, Vertebrate, mammal, bovine, cow

Options:

87827097941. 1
87827097942. 2
87827097943. 3

87827097944. 4



Question Number : 26 Question Id : 87827024809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefefad § 9 #19 9 SE (Ted gu) a%ad & TRy § oraferd & 7
(1) T, TSI, SO, Feh, 79
(2) EITRH, HERT, ST, T, T
(3)  RITERI, I, YR, ST, T
(4) T, RO, WY, TSI, T
Options :
87827097941. 1
87827097942. 2

87827097943. 3

87827097944. 4

Question Number : 27 Question Id : 87827024810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement () :  Truth and falsehood are attributes of individual propositions.
Statement (I1) : Validity can be attributed to any single proposition by itself.

I the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2
3
(

Both Statement [ and Statement II are incorrect

4

)
) Statement I is correct but Statement II i incorrect
) Statement I is incorrect but Statement I is correct

Options:



87827097945. 1
87827097946. 2
87827097947. 3

87827097948. 4

Question Number : 27 Question Id : 87827024810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A ¢ oA feu U g

T (1) : T U6 7 e Yiewtad & €

oM (1) : 3w B @ el ft ook ot o o 2 e €

IR Y o Sf1clh H, el T 70 foehedi o § Hore SR ST ol 9 I
(1) e 3R HoW 11 3H T &

(2) R 1R HOR 11 S Terd ¢

(3) HUTIHEI &, wifehd ho 11777 &

(4) YT &, Wi Ho 1 He &

Options :

87827097945. 1
87827097946. 2
87827097947. 3

87827097948. 4

Question Number : 28 Question Id : 87827024811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which fallacy is committed in the following argument ?

“The universe must be spherical in form because all its constituent parts are spherical in form” ?
(1) Circular argument
(2) Red herring
(3) Slippery slope
¢

4) - Fallacy of composition

Options:

87827097949. 1
87827097950. 2
87827097951. 3

87827097952. 4

Question Number : 28 Question Id : 87827024811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Frettan 7 % B 1 - T ¢ - e H e TR & <10 i 3066 94 e &
R e

Options :

87827097949. 1
87827097950. 2
87827097951. 3
87827097952. 4

Question Number : 29 Question Id : 87827024812 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : The statement - “Pradeep’s mind is a cave : deep, dark and full of bats” is an
analogy which is only descriptive in nature.

Statement (II) : The statement - “Pradeep’s mind is a cave ; deep, dark and full of bats” is an
analogy which confains an argument,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

2
(3) Statement Iis correct but Statement II is incorrect
4

Both Statement [ and Statement II are incorrect

Statement I is incorrect but Statement II is correct

Options :

87827097953. 1
87827097954. 2
87827097955. 3
87827097956. 4

Question Number : 29 Question Id : 87827024812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e ) F foU T g

H () T, T, SR 0 T QR T ¢ 9% R TGV €
Wﬁﬂ:ﬁﬂ@ﬂfﬂ%ﬁl

O (11): "W 1 T, TR, SHE 90 TS N o 7 T € 1" 7 R WewAr & for
e fiefem

TR % el H, 77 0 70 Foereet o 9 T a1 90 1 9

(1) FRIERFRTH T2

(2) FORER B G T €

() HRIT & o TR0 ¢

(&) FERITR &, o R &

Options :

87827097953. 1
87827097954. 2
87827097955. 3

87827097956. 4

Question Number : 30 Question Id : 87827024813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (1) : Nyaya syllogism has three propositions
Statement (I1) : Aristotelian syllogism has five propositions

I the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

(2) Both Statement I and Statement II are incorrect
(3) Statement 1is correct but Statement II is incorrect
g

4)  Statement I s incorrect but Statement II is correct



Options :

87827097957. 1
87827097958. 2
87827097959. 3
87827097960. 4

Question Number : 30 Question Id : 87827024813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A g F TR

®UF (1) : AHEH 2§ A vt g €
oM (1) : SIS e H vy 2 €|
IR F4 % e H, Al 500 foehedi § | Ward e I A T HIC
(1) eI S et 11 3 T &

(2) o1 SR B 11 G Terd ¢

(3) YRR 2, elfer B 11 7erd ¢

(4) IR &, i Fo I H &
Options :

87827097957. 1

87827097958. 2

87827097959. 3
87827097960. 4

Question Number : 31 Question Id : 87827024814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is an online store house of all academic awards like certificates, diplomas,
degrees, marksheets etc. ?

(1) SWAYAM

(2) National Digital Library
(

(

)
3) National Academic Library
)

4)  National Academic Depository

Options:

87827097961. 1
87827097962. 2
87827097963. 3

87827097964. 4

Question Number : 31 Question Id : 87827024814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Foes 9 8 oo o, fevcon, T, e, o 0 e e, el 1 T e e
Tt

(1) (T o] U )

() TR s YR

() T SR

(4) T T FRATTT

Options :

87827097961. 1
87827097962. 2
87827097963. 3
87827097964. 4

Question Number : 32 Question Id : 87827024815 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
[dentify the correct sequence of the missing nits of data A-D that can be used to represent the size
of a file, as it changes in size. The units of data increase in size from smallest to largest as given
below.

bit

tera Byte (TB)
(A) byte
(B) gigabyte (GB)
(C) megabyte (MB)
(D) nibble
Choose the correct answer from the options given below :
(1) (O (A) (€ 6)

Q) (4., ), ()
(3) (D) (4) ), (C)
(4 (4).0) (€, B
Options :

87827097965. 1
87827097966. 2
87827097967. 3
87827097968. 4

Question Number : 32 Question Id : 87827024815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) () (&) (€, B
) (4)(C), D)@
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3 (D) () (B) (0
)
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|
(0D
) (4) B
) (40,00
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2
()
(4
Options:

87827097965. 1
87827097966. 2
87827097967. 3

87827097968. 4

Question Number : 33 Question Id : 87827024816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : Wiki is usually represented in reverse chronological order, whereas blog has a
structure determined by content and users.

Statement (I1) : Blog is usually personal/someone’s opinion, whereas a wiki is usually objective.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement 115 incorrect but Statement I1 is correct

Options:

87827097969. 1
87827097970. 2
87827097971.3
87827097972. 4

Question Number : 33 Question Id : 87827024816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el Q) A feu U §

H(1): 8l ) AT WOE FAEY 4 G W § S s @ g e §
eirRai g freffd &1 e 21

B (1) : ] ST AT ot 2o o 4 141 2, e Tl e e () BT
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Options :

87827097969. 1
87827097970. 2
87827097971.3

87827097972. 4

Question Number : 34 Question Id : 87827024817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements A-E about firewalls in computer networks are true ?
) Firewalls are only available as hardware devices and only examine traffic entering a network,

B) Firewalls allow a user to set rules for network traffic.

D) Firewalls backup all data that is transmitted around a network.

(A

(

(C) TFirewalls will automatically stop all malicious trafic.

(

(E) Firewalls can be used to block access to certain websites.

Choose the correct answer from the options given below :
1) @) O ()Only

(2 (B)and (£} Onl

() (@) 0)and [ )ODIY
(4) (A)and (C) Only
Options:
87827097973. 1
87827097974. 2
87827097975. 3

87827097976. 4

Question Number : 34 Question Id : 87827024817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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D) R fo A2 TR YU G 1 1 o e ¢

E) v oaeredl s o i A & forn wes o e e e 2

A e T foedl 0 R S o T Wi

(1) (4) (C) 3 (0

() B) 4 (5

() 4 (B), () 4 ()

() ¥ (4) 9 (Q

Options:

(
(
(
(

87827097973. 1
87827097974. 2
87827097975. 3

87827097976. 4

Question Number : 35 Question Id : 87827024818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List -1 List- 11
(Automatic data capture method)  (Description)

(A) OCR ()  System that reads pencil or pen marks on a piece of
paper in pre-determined positions

(B) OMR () System that reads characters printed in a special ink,
for example, the characters written at the bottom of
Bank cheque

(C) RFD (M) Reading data directly from hard copy and
converting into computer-readable form

(D) MICR (IV) Use of minute-electronic devices (containing
mictochip and antenna) that can read from distances
upto few minutes

Choose the correct answer from the options given below :

(1) (AHD, (3K, (-, (M)

(@) (A, BHI), (CH), D)

3) (AW, (B4, (CHIV), DK

[4) (AHV), (M, CHD, DK

Options :

87827097977. 1
87827097978. 2
87827097979. 3

87827097980. 4

Question Number : 35 Question Id : 87827024818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



oL & 0 el 1 et i
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(Tter g e fafy) (o)

(A) ¥ W () % YOl e Tt 0 O e et o et e
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(1) (A-{D), (BK{I), (C-{I, (DHIV)

(2) (AHI), (B-IV), (CHI, (DH()

(3) (KT, (B}, (CHIV), (DHT)

(4 (AHIV), (BM{ID, (C)(D) (DM{I)

Options:

87827097977. 1
87827097978. 2
87827097979. 3
87827097980. 4

Question Number : 36 Question Id : 87827024819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : The absence of fluoride in drinking water causes tooth decay.

Statement (I1) : Absence of fluoride in drinking water causes mottling of teeth also known as
dental fluorosis.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement I s incorrect but Statement I s correct

Options:

87827097981. 1
87827097982. 2
87827097983. 3

87827097984. 4

Question Number : 36 Question Id : 87827024819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097981. 1
87827097982. 2
87827097983. 3

87827097984. 4

Question Number : 37 Question Id : 87827024820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) :  Under Montreal protocol developed and developing nations have differentiated
responsibilities,

Statement (1) : Under Kigali amendment of Montreal protocol, ChloroFhuoroCarbons (CFCs) and
HydroChloroFluoroCarbons (HCFCs) were to be phased out.

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement [ and Statement II are correct

2
3
(

Both Statement I and Statement II are incorrect

4

)
) Statement 1 is correct but Statement II is incorrect
) Statement I is incorrect but Statement I is correct

Options:

87827097985. 1
87827097986. 2
87827097987. 3

87827097988. 4

Question Number : 37 Question Id : 87827024820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827097985. 1
87827097986. 2
87827097987. 3

87827097988. 4

Question Number : 38 Question Id : 87827024821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : Naturally occurring Volatile Organic Compounds (VOCs) generally oxidize to
form Carbonmonoxide (CO) and Carbondioxide (CO,)

Statement (I1) : Anthropogenically emitted VOCs play an important role in the formation of smog

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement I1 is incorrect
[

4)  Statement I s incorrect but Statement I s correct



Options :

87827097989. 1
87827097990. 2
87827097991. 3

87827097992. 4

Question Number : 38 Question Id : 87827024821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097989. 1

87827097990. 2

87827097991. 3

87827097992. 4

Question Number : 39 Question Id : 87827024822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following gases has the maximum contribution to Global Warming ?
(1)  Chlorofluorocarbons (CECs)

(2) Methane (CH,)

(3) Sulfur Hexa fluoride (SF)

(4)  Carbon dioxide (CO,)

Options :

87827097993. 1

87827097994. 2

87827097995. 3

8782709799%6. 4

Question Number : 39 Question Id : 87827024822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
frefafed 9 9 forg 19 =1 AR afveas v | Faifues € 2
(1) FARREEA (9 T )
(2) e (CH,)
(3) HOHL T FANEE (SF)
(4) FHEA SEAFES (CO,)
Options :
87827097993. 1
87827097994. 2

87827097995. 3

87827097996. 4

Question Number : 40 Question Id : 87827024823 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
Which of the following are true about Persistent Organic Pollutants (POPs) ?
A) They are extremely widespread and occur from tropics to Arctic.

B) They often accumulate in food webs and reach toxic concentrations.

D) They are widely used as flame retardants and in deodrants.

(

(

(C) Volatile Organjc Compounds (VOCs) are examples of POPs,
(

E

—

Some chemicals used in making non-stick, waterproof and stain-resistant products are
categorized ag POPs,

Choose the correct answer from the options given below :
(1) (A)(B) (C)and (D) OIﬂY

(2) (), (€), (D) and (E) Onl

(3) (&), (B), (D) end (£ )Onlv
(4 (4), (C)and (E) Onl
Options :

87827097997. 1
87827097998. 2
87827097999. 3

87827098000. 4

Question Number : 40 Question Id : 87827024823 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097997. 1
87827097998. 2
87827097999. 3

87827098000. 4

Question Number : 41 Question Id : 87827024824 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Hindu College in Banares set up by Annie Besant before Independence proposed to impart
(1)  Physical education

(2) Religious and moral education

(3) Western education

(4) Medical education

Options :

87827098001. 1



87827098002. 2
87827098003. 3

87827098004. 4

Question Number : 41 Question Id : 87827024824 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827098001. 1
87827098002. 2
87827098003. 3
87827098004. 4

Question Number : 42 Question Id : 87827024825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following Universities was the largest in the initial years of Lord Curzon's regime ?
(1) Calcutta

(2) Madras
(3) Bombay
(4)  Punjab

Options:

87827098005. 1



87827098006. 2
87827098007. 3

87827098008. 4

Question Number : 42 Question Id : 87827024825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
87827098005. 1
87827098006. 2

87827098007. 3
87827098008. 4

Question Number : 43 Question Id : 87827024826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following were the recommendations of the first educational conference held at
Shimla in 1901 ?

A)  Appointment of only Indians as Vice-Chancellors of Indian Universities
B) Importance to teaching and research in Sanskrit

(
(
(C) A thorough reform of Indian Universities
(D) Appointment of a Director-General of Indian education
(E) Co-ordination of rules for examinations

Choose the correct answer from the options given below :

(1) (A) (B and (C)Only

2) () (C)and (D) Only

(3) (C), (D) and (E) Only

4 (4) () and 5 Ol

Options :

878270980009. 1
87827098010. 2
87827098011.3

87827098012. 4

Question Number : 43 Question Id : 87827024826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(4) A (A), (B) 4 (B)
Options :

87827098009. 1
87827098010. 2

87827098011. 3

87827098012. 4

Question Number : 44 Question Id : 87827024827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the administrative reforms in universities suggested by the National
Knowledge Commission ?

(A) Appointment of vice-chancellors based on their academic and administrative credentials
(B) De-politicisation of appointments

(C) Centralised control of universities

(D) Restrictions on academic freedom

(E) Creation of a good research environment

Choose the correct answer from the options given below :

(1) (4) (3)and (O Only

(2) (3 (C)and D) Only

(3) (C),(D)and E )Onlv

[4) (4) ) and (5 Ol

Options :

87827098013. 1
87827098014. 2
87827098015. 3

87827098016. 4

Question Number : 44 Question Id : 87827024827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827098013. 1
87827098014. 2
87827098015. 3
87827098016. 4

Question Number : 45 Question Id : 87827024828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : The monastery of Vikramasila, possessed a University with six colleges.

Statement (1) : Vikramasila was a well-known centre of Tantric Buddhism and attracted students
from other countries,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement I s incorrect but Statement I s correct

Options:

87827098017. 1
87827098018. 2
87827098019. 3

87827098020. 4

Question Number : 45 Question Id : 87827024828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827098017. 1
87827098018. 2
87827098019. 3
87827098020. 4

Sub-Section Number : 3
Sub-Section Id : 8782701085
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827024829 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow :

Bharat, the country of historical values and sentiments overflowing with cultures and religions,
changes with every mile, but is still known for preserving its rich cultural heritage. Moving towards
global tourism, the ministry of ports, shipping and waterways recently created an experience for people
that brought forth the historical, cultural and religious significance of our rivers, In January and February,
the global tourism and cruise sector was abuzz with the news of the world's longest river cruise MV
Ganga Vilas. The cruise covered nearly 32,000 K over 51 days, crossing 27 rivers systems across five
states and two countries, via the Ganga-Brahmaputra river system. Starting from the heart of Uttar
pradesh in Varanasi to Dibrugarh in Assam, it had several stops and visits to nearly 50 locations,

The Act East Policy of Prime Minister Narendra Modi and the focus on developing the national
waterways made this historic voyage a reality. It was also a true demonstration of Atmanirbhar Blarat
(self reliant India) with a domestically manufactured vessel, a fully Indian crew, Indian decor, Indian
cuisine, Indian art and craft, and products being showcased. The vessel with a zero-discharge policy
also used the Indian Oil Corporation manufactured green fuel with the Dolphin Deterrent Device.

Sub questions

Question Number : 46 Question Id : 87827024830 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
The following are true about the country Bharat :
(A) It does not preserve its cultural heritage.
(B) It is overflowing with cultures.
(C) It does not have a variety of religions.
(D) It is a country of historical values.
Choose the correct answer from the options given below :
(1) (&), (B) and (C) Only
(2) (C) and (D) Only
(3) (A)and (C) Only
(4) (B) and (D) Only
Options :
87827098021. 1
87827098022. 2
87827098023. 3
87827098024. 4

Question Number : 47 Question Id : 87827024831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is correct about M V Ganga Vilas ?
(1) Itis a tourist spot.

2)

(3) Itis world’s longest reiver cruise.

(4) It covered nearly 32,000 Km over 27 days

It started from Haridwar.

Options:
87827098025. 1
87827098026. 2

87827098027. 3



87827098028. 4

Question Number : 48 Question Id : 87827024832 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

M V Ganga Vilas is a true demonstration of self-reliant India because :
(A) The decor is done by Indian designers.

(B) It serves both Indian and Western cuisine.

(C) It showcases Indian arts and crafts.

(D) It is operated by an all Indian crew.

Choose the correct answer from the options given below :

(I) (A)and (B) Only
) (&), (), (C) and (D)
) (4), (C) and (D) Only
) |

(
3
(4)  (B), (C) and (D) Only

4
Options :

87827098029. 1
87827098030. 2
87827098031. 3

87827098032. 4

Question Number : 49 Question Id : 87827024833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

“This historic voyage” refers to :

(1) Global tourism

(2) Act East Policy of Prime Minister Narendra Modi
(3) MV Ganga Vilas cruise

(4) Development of National waterways



Options :

87827098033. 1
87827098034. 2
87827098035. 3
87827098036. 4

Question Number : 50 Question Id : 87827024834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : MV Ganga Vilas is an environment friendly vessel.

Statement (IT) : MV Ganga Vilas is not indigenously manufactured vessel

I the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

(2) Both Statement I and Statement II are incorrect
(3) Statement I s correct but Statement I 15 incorrect
4

4)  Statement 1 is incorrect but Statement II is correct

Options :

87827098037. 1
87827098038. 2
87827098039. 3
87827098040. 4

Question Id : 87827024829 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension



F0% TR 2 ot 38 T T A v i

e e 4R W a4 e T 1 9 MRS T e R e & e T 4 7
ST 3, s T o e o fet Forear €1 o e fen o v 7 U W, -V
9 T T 4 T 6 e O R o e o g e < v, e @
e e ) A o | ) e e e 1 o v 6l 1 o ()
o T S T o 0 T fo 7 e 7 ovfel o 1 & 1 0 & ) o
27 ) o 1 TR 51 el e 32,000 . 1 0 T A1 R VW 6 2 S RO
4 L M 6 e % 306% 71% G 9 S 34 I 50 B4 1 76

THFRA 7% %) 1 T 3% (T8 T A ) 1 1 % 613 ST ) 0 e h 376 g
59 e e 0 1 9o o o e W o O, i e e, R -, Y
i, A e, i @ S o W § 7 AR R 7 e e o o 2 S A e 39
i 3 < A 3 o 919 S o e g0 fofeil af e 0 ot i fvn

Sub questions

Question Number : 46 Question Id : 87827024830 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827098021. 1
87827098022. 2
87827098023. 3

87827098024. 4

Question Number : 47 Question Id : 87827024831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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(1) 38 U qded Td ¢ |
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(3) ¥ fava =1 ged e 41 faRr 21
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Options :
87827098025. 1
87827098026. 2

87827098027. 3

87827098028. 4

Question Number : 48 Question Id : 87827024832 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(4) 9 (B), (C) 3 (D)

Options :

87827098029. 1

87827098030. 2

87827098031. 3
87827098032. 4

Question Number : 49 Question Id : 87827024833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827098033. 1

87827098034. 2



87827098035. 3

87827098036. 4

Question Number : 50 Question Id : 87827024834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827098037. 1

87827098038. 2

87827098039. 3

87827098040. 4

Criminology
Section Id : 878270729
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 92



Number of Questions to be attempted : 92

Section Marks : 200

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 8782701086
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 51 Question Id : 87827024835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which among the following is not the statistical measure to test the hypothesis in quantitative
analysis ?

() ANOVA

() ANCOVA

(3) Content Analysis

(4) Ttest

Options :

87827098041. 1
87827098042. 2
87827098043. 3

87827098044. 4

Question Number : 51 Question Id : 87827024835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827098041. 1
87827098042. 2
87827098043. 3

87827098044. 4

Question Number : 52 Question Id : 87827024836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one among the following is not a random sampling design ?
(1) Snowball Sample
(2) Cluster Sample
(3) Simple Random Sample
(4) Stratified Random Sample
Options:
87827098045. 1
87827098046. 2
87827098047. 3
87827098048 4

Question Number : 52 Question Id : 87827024836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(2) T Hfe
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Options :
87827098045. 1
87827098046. 2

87827098047. 3
87827098048. 4

Question Number : 53 Question Id : 87827024837 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Which among the following is not the qualitative research method ?
(1) Content analysis

(2) Experimental design

(3) Discourse analysis

(4) Case study

Options:

87827098049. 1

87827098050. 2

87827098051. 3

87827098052. 4

Question Number : 53 Question Id : 87827024837 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fr=fafead § ¥ SF-t qoreres iy fafy =& €2
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Options:

87827098049. 1
87827098050. 2
87827098051. 3

87827098052. 4

Question Number : 54 Question Id : 87827024838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Which one among the following is called as mixed method in research ?
(1) Descriptive and Analytical research
) Analytical and Experimental research

(2
(3) Qualitative and Quantitative research
(4)  Exploratory and Doctrinal research

Options :

87827098053. 1
87827098054. 2
87827098055. 3
87827098056. 4

Question Number : 54 Question Id : 87827024838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827098053. 1
87827098054. 2
87827098055. 3

87827098056. 4

Question Number : 55 Question Id : 87827024839 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

As a perspective of crime causation, which among the following associate with, if in a
community nobody cares abouta untended disorderly behaviour and leads to more serious
disorder and crime ?

) Positive approach theory
2)  Subculture of violence theory
3) Broken windows theory
(4)  Defensible space theory

(
2
(

Options :

87827098057. 1
87827098058. 2
87827098059. 3

87827098060. 4

Question Number : 55 Question Id : 87827024839 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827098057. 1
87827098058. 2
87827098059. 3
87827098060. 4

Question Number : 56 Question Id : 87827024840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Techniques of Neutralization s propounded by which one of the following criminologists ?
() Marvin Woltgang and Franco Ferracuti
(2) Gresham M. Sykes and David Matza
(3) EH.Sutherland and D.R. Cressey
(4) Clifford Shaw and Henry McKay

Options :

87827098061. 1
87827098062. 2
87827098063. 3

87827098064. 4



Question Number : 56 Question Id : 87827024840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

(
(
(

87827098061. 1
87827098062. 2
87827098063. 3

87827098064. 4

Question Number : 57 Question Id : 87827024841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following criminologist explained crime in relation to economic
conditions ?

(1) Robert K. Merton
() William A. Bonger
(3) Austin T, Turk

(4)  Durkheim Emile

Options :

87827098065. 1
87827098066. 2
87827098067. 3

87827098068. 4



Question Number : 57 Question Id : 87827024841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827098065. 1
87827098066. 2
87827098067. 3

87827098068. 4

Question Number : 58 Question Id : 87827024842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following was not undertaken by the Government of India in response to 26/
11 terror attacks ?

(1) Creation of new NSG hubs

(2) Establishment of National Investigation Agency (NIA)
(3) Repeal of the Prevention of Terrorism Act (POTA)

(4) Revamping of Multi Agency Center (MAC)

Options:
87827098069. 1
87827098070. 2

87827098071. 3



87827098072. 4

Question Number : 58 Question Id : 87827024842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827098069. 1
87827098070. 2
87827098071. 3

87827098072. 4

Question Number : 59 Question Id : 87827024843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who among the following has defined crime as “an intentional act or omission in violation
of criminal law, committed without defence or justification, and sanctioned by the laws as
felony or misdemeanour” ?

(1) Thorsten Sellin

(2) Paul W. Tappan

(3) EdwinH. Sutherland
(4) Marvin E Woltgang
Options :

87827098073. 1



87827098074. 2
87827098075. 3

87827098076. 4

Question Number : 59 Question Id : 87827024843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827098073. 1
87827098074. 2
87827098075. 3

87827098076. 4

Question Number : 60 Question Id : 87827024844 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who among the following printed out that white-collar crime was more dangerous to society
than ordinary crimes, firstly, because the financial losses were higher, and secondly, because
of the damage inflicted on public morale ?

1) Harry Elmer Barnes
2) Donold R. Cressey
3) Paul W. Tappan
(4) EdwinH. Sutherland

(
2
(

Options:

87827098077. 1
87827098078. 2
87827098079. 3

87827098080. 4

Question Number : 60 Question Id : 87827024844 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827098077. 1
87827098078. 2
87827098079. 3
87827098080. 4



Question Number : 61 Question Id : 87827024845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Offence which manifests evidence of prejudice based on race, religion, ethnicity, disability
or sexual orientation is called

(1) Predatory Crime
2)  Violent Crime
(3) HateCrime

(4) Organised Crime
Options:
87827098081. 1
87827098082. 2
87827098083. 3

87827098084. 4

Question Number : 61 Question Id : 87827024845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
87827098081. 1
87827098082. 2

87827098083. 3



87827098084. 4

Question Number : 62 Question Id : 87827024846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Labelling theory has its foundation in the works of which of the following criminologists ?
() Marvin Woltgang and Franco Ferracuti

(2) George Herbett Mead and Charles Horton Cooley
(3) Clitford Shaw and Henry Mckay

(4) Michael Gottfredson and Travis Hirschi
Options :

87827098085. 1

87827098086. 2

87827098087. 3

87827098088. 4

Question Number : 62 Question Id : 87827024846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

(
(
(

87827098085. 1
87827098086. 2

87827098087. 3



87827098088. 4

Question Number : 63 Question Id : 87827024847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Which among the following Latin term means “The body of the crime” ?
(1)  Actusreus
(2) Mensrea
(3) Corpus delecti
(4) Mala-in-se
Options :
87827098089. 1
87827098090. 2
87827098091. 3

87827098092. 4

Question Number : 63 Question Id : 87827024847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
feiferd § | form <ifeq ug @1 sifirgm ‘ sty freemr’ 9§ €2
(1) TUeed fsm
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(3) HIUH ScifeR

(4) H-39-9
Options :

87827098089. 1
87827098090. 2

87827098091. 3



87827098092. 4

Question Number : 64 Question Id : 87827024848 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is incorrect about FIR ?
(1) FIRis not defined in the Cr.P.C.
(2) FIRisthename given to the information recorded by the police under5.154 of CrP.C.

(3) FIRisa formal statement given to and recorded by the police regarding a cognizable
offence.

(4) FIR canbe filed only by a victim of crime or a witness to a crime.

Options :

87827098093. 1
87827098094. 2
87827098095. 3

87827098096. 4

Question Number : 64 Question Id : 87827024848 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827098093. 1

87827098094. 2



87827098095. 3

87827098096. 4

Question Number : 65 Question Id : 87827024849 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which among the following is not a cognizable offence ?
(1) Cheating
(2) Criminal Breach of Trust
(3) Theft
(4) Sedition

Options :

87827098097. 1

87827098098. 2

87827098099. 3

87827098100. 4

Question Number : 65 Question Id : 87827024849 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827098097. 1

87827098098. 2



87827098099. 3
87827098100. 4

Question Number : 66 Question Id : 87827024850 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[n which of the following leading landmark case, it was held that speedy trial of an accused
is his fundamental right under Article 217

(1) Sunil Batra V. Delhi Administration

(2) MH. Wadanrao Hoskot V. State of Maharashtra

(3) HussainaraKhatoon V. Home Secretary, State of Bihar

(4) Francis Coralie Mullin V. The Administrator, Union Territory of Delhi

Options :

87827098101. 1
87827098102. 2
87827098103. 3

87827098104. 4

Question Number : 66 Question Id : 87827024850 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Fef 8 o Secree eyt ereo O e ) 7% o o e o ot e o
¥ SRR 21 % 5 S e v ¢

1) et o1 aH feeel e

) AT, TG B S RS T

3) ORI e A T e f

) Sofie et e A o, feh 99 T 4

Options :

(
(
(
(



87827098101. 1
87827098102. 2
87827098103. 3

87827098104. 4

Question Number : 67 Question Id : 87827024851 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Among the following experts, which person visited India atter independence to study and
improve the Indian Prison system ?

(1) Dr.EH.Sutherland
(2) Dr.W.C Reckless
(3) Dr.GB. Vold

(4 Dr.Donald Tatt

Options :

87827098105. 1
87827098106. 2
87827098107. 3

87827098108. 4

Question Number : 67 Question Id : 87827024851 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827098105. 1
87827098106. 2
87827098107. 3

87827098108. 4

Question Number : 68 Question Id : 87827024852 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
What is the lowest cadre of Judicial officers who can release an oftender on probation ?
(1) High Court Judges
(2) Alltype of magistrates
(3) Supreme Court Judge
(4) District Judge
Options :
87827098109. 1
87827098110. 2
87827098111. 3

87827098112. 4

Question Number : 68 Question Id : 87827024852 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :

87827098109. 1
87827098110. 2
87827098111.3

87827098112. 4

Question Number : 69 Question Id : 87827024853 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Revocation of punishment is related to :
(1) Parole
(2) Probation
(3) Furlough
(4) Remission
Options :
87827098113. 1
87827098114, 2
87827098115. 3

87827098116. 4

Question Number : 69 Question Id : 87827024853 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

dg ol gfade frefafed § 9 frad gsifed 22

(1) W
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Options :

87827098113. 1
87827098114. 2
87827098115. 3

87827098116. 4

Question Number : 70 Question Id : 87827024854 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Which among the following is a community based correction ?
(I) Rigorous imprisonment
(2) Capital punishment
(3) Simple imprisonment
(4) Admonition

Options :

87827098117. 1

87827098118 2

87827098119. 3

87827098120. 4

Question Number : 70 Question Id : 87827024854 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :

87827098117. 1
87827098118. 2
87827098119. 3

87827098120. 4

Question Number : 71 Question Id : 87827024855 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Anorder that may not be passed against a child in conflict with law
(I) Death Sentence

(2) Community Service

(3) Probation

(4) Special Home

Options :

87827098121. 1
87827098122. 2
87827098123.3

87827098124. 4

Question Number : 71 Question Id : 87827024855 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :

87827098121. 1
87827098122. 2
87827098123.3

87827098124. 4

Question Number : 72 Question Id : 87827024856 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Under the Juvenile Justice (Care and Protection of Children) Act, 2015, which one of the
following police force is responsible for prevention and treatment of juvenile delinquency ?

(I) Special Juvenile Police and Security Force
(2) Special Juvenile Police Unit

(3) Special Children Police Force

(4) Special Children Police Unit

Options :

87827098125. 1
87827098126. 2
87827098127.3

87827098128. 4

Question Number : 72 Question Id : 87827024856 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827098125. 1
87827098126. 2
87827098127.3
87827098128. 4

Question Number : 73 Question Id : 87827024857 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a principle of administration of the Juvenile Justice (Care
and Protection of Children) Act, 20157

(1) Principle of presumption of innocence
(2) Principle of dignity and north

(3) Principle of best interest

(4) Principle of non-institutionalisation
Options :

87827098129. 1

87827098130. 2

87827098131. 3

87827098132. 4



Question Number : 73 Question Id : 87827024857 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827098129. 1
87827098130. 2
87827098131.3

87827098132. 4

Question Number : 74 Question Id : 87827024858 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Children who are habitually absent from school are known as
(1) Children in conflict with law

(2) Vagrant

(3) Truant

(4)  Uncontrollable children
Options :

87827098133 1
87827098134. 2
87827098135. 3

87827098136. 4



Question Number : 74 Question Id : 87827024858 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827098133. 1
87827098134. 2
87827098135. 3

87827098136. 4

Question Number : 75 Question Id : 87827024859 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Who among the following, is known as the father of victimology ?

(1) Hans Von Hentig
)  Stephen Schafer

(2
(3) Benjamin Mendelsohn
(4) Marvin Wolfgang
Options:

87827098137. 1

87827098138 2

87827098139. 3

87827098140. 4



Question Number : 75 Question Id : 87827024859 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827098137. 1
87827098138. 2
87827098139. 3
87827098140. 4

Question Number : 76 Question Id : 87827024860 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

occurs when a victim unintentionally makes it easier for an offender to commit
a crime.
(I) Victim Precipitation
(2) Victim Facilitation
(3) Victim Provocation
(4) Vicacrious Victimization

Options:
87827098141. 1
87827098142. 2

87827098143. 3



87827098144. 4

Question Number : 76 Question Id : 87827024860 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827098141. 1
87827098142, 2
87827098143.3

87827098144. 4

Question Number : 77 Question Id : 87827024861 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



With reference to section 357A of the Code of Criminal Procedure, 1973, which one of the
following statements is not correct ?

(I) Every State Government in coordination with the Central Government shall prepare a
scheme for providing hands for the purpose of compensation to the victims of crime.

(2) Wherever a recommendation is made by the court for compensation, the District or the
State Legal Service Authority, shall decide the quantum of compensation.

(3)  Onreceipt of recommendation from the court, the State or the District Legal Services
Authority, atter due enquiry award adequate compensation by completing the equiry
within two months.

(4) When the offender is not traced or identified, but only the victim is identified, the
victim cannot make an application to the State or the District Legal Service Authority
for award of compensation.

Options:

87827098145. 1
87827098146. 2
87827098147.3

87827098148. 4

Question Number : 77 Question Id : 87827024861 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827098145. 1
87827098146. 2
87827098147.3

87827098148. 4

Question Number : 78 Question Id : 87827024862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Stephen Schafer proposed a victim typology, which one of the following typology is not a
part of the seven categories proposed by Stephen Schafer.

(1) Unrelated Victims

(2) Provocative Victims

(3) Precipative Victims

(4) Completely innocent victims
Options:

87827098149. 1
87827098150. 2
87827098151. 3

87827098152. 4

Question Number : 78 Question Id : 87827024862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827098149. 1
87827098150. 2
87827098151.3

87827098152. 4

Question Number : 79 Question Id : 87827024863 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to Prison Statistics India 2021, which one among the following states does not
have a Central Jail ?

(1) Arunachal Pradesh
() Andhra Pradesh

Options :

87827098153. 1
87827098154. 2
87827098155. 3
87827098156. 4

Question Number : 79 Question Id : 87827024863 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fiyar wfefiea 3fem 2001 % o, Fmfaifan 8 & g To1 o S e = 87

Options :

87827098153. 1
87827098154. 2
87827098155. 3
87827098156. 4

Question Number : 80 Question Id : 87827024864 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one among the following country has abolished the capital punishment
Death Penalty) ?

)
)

(3) Russia
)

Options :

87827098157. 1
87827098158. 2
87827098159. 3

87827098160. 4

Question Number : 80 Question Id : 87827024864 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafad § 9 foe <0 7 goggUs i 91 1 999 F fean g7
(1) S

(2) =M
(3) &4
(4) 3TivS
Options :

87827098157. 1
87827098158. 2
87827098159. 3

87827098160. 4

Question Number : 81 Question Id : 87827024865 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which state in India was first to establish an open air jail ?
(1) Bihar

(2) Uttar Pradesh

(3) Madhya Pradesh

(4) Karnataka

Options:

87827098161. 1
87827098162. 2
87827098163.3

87827098164. 4

Question Number : 81 Question Id : 87827024865 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e o Trefafed | § e 15 7 wayem e R SR s e o

(1) TR
(2) IW YW
(3) B¥ WY
{4) FeE
Options :

87827098161. 1
87827098162. 2
87827098163. 3

87827098164. 4

Question Number : 82 Question Id : 87827024866 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which among the following punishment is awarded frequently in India ?
(1) Death

(2) Forfeiture of property

(3) Imprisonment

(4) Fine

Options:

87827098165 1

87827098166. 2

87827098167. 3

87827098168. 4

Question Number : 82 Question Id : 87827024866 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YR | fefafad 9§ | sA-w1 5 aHq fea s g ?

(1) THcs
(2) HUfd h1 FHYELO
(3) HREE
(4) 319 UL
Options :

87827098165. 1
87827098166. 2
87827098167. 3

87827098168. 4

Question Number : 83 Question Id : 87827024867 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Abelief that law disproportionately reflects the interest of a powerful minority within society
IS

Options:

87827098169. 1
87827098170. 2
87827098171.3

87827098172. 4



Question Number : 83 Question Id : 87827024867 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827098169. 1
87827098170. 2
87827098171.3

87827098172. 4

Question Number : 84 Question Id : 87827024868 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Prisons and other forms of Institutional forms of treating offender come under which of the
following Criminal Justice System ?

(1) Investigation Wing

(2) Legislative Wing

() Judicial Wing

(4) Correctional Wing

Options :

87827098173. 1
87827098174. 2
87827098175. 3

87827098176. 4



Question Number : 84 Question Id : 87827024868 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

IR U T v o o e 9 e 9 o ot = v o sfia om

Options :

87827098173. 1
87827098174. 2
87827098175. 3

87827098176. 4

Question Number : 85 Question Id : 87827024869 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given proper treatment, criminals can be changed into productive law abiding citizens, s :
(1) Restorative Justice Model

(2) Due Process Model

(3) Rehabilitative Model

(4)  Crime Control Model

Options:
87827098177. 1

87827098178. 2

87827098179. 3



87827098180. 4

Question Number : 85 Question Id : 87827024869 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

30 SR SR AT 61 S ) T A i o T S €, 3% e o €
T A e

Options :

87827098177. 1
87827098178. 2
87827098179. 3

87827098180. 4

Question Number : 86 Question Id : 87827024870 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following branch of criminology attributes criminality to functional deviations
and mental conflicts in the personality of the offender ?

(1) Criminal psychology

(2) Criminal Sociology

(3) Criminal Anthropology

(4)  Criminal Psycho-neuro-pathology

Options :
87827098181. 1

87827098182. 2



87827098183. 3

87827098184. 4

Question Number : 86 Question Id : 87827024870 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ST ! Ffran A @ F-9 I S o oaf § e aaer A A g9
amfawwmﬁ%?

PRI GR

Options :

87827098181. 1
87827098182. 2
87827098183. 3

87827098184. 4

Question Number : 87 Question Id : 87827024871 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Transitional neighbourhoods” and ‘concentric zones’ are explained in which of the following
criminological theory ?

(1) Social Strain Theory

(2) Social Learning Theory

(3) Social Conflict Theory

(4) Social Disorganisation Theory

Options :



87827098185. 1
87827098186. 2
87827098187. 3

87827098188. 4

Question Number : 87 Question Id : 87827024871 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fretferfe 4 @ v ot fogla & o Sfvem’ SR ' Heefs 41 1 et fon T 22
(1) o fofpf gl
(2) o e fig
(3) S H fagi
(4) S fea figi
Options :
87827098185. 1
87827098186. 2

87827098187. 3

87827098188. 4

Question Number : 88 Question Id : 87827024872 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

According to which of the following School of Criminology, an offender commits a wrongful
act not because of his own free will but due to the influence of some external super power ?

(1) Neo-classical School
(2) Classical School
(3)  Pre-classical School
(4) Positive School



Options :

87827098189. 1
87827098190. 2
87827098191.3
87827098192. 4

Question Number : 88 Question Id : 87827024872 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SRR o e o SeARr o SA,  e) ) o 1 01 H o ot o
EWIR 6 T 00 el TN 0 ¢/

HhTlHe qHq
Options:
87827098189. 1
87827098190. 2
87827098191.3

87827098192. 4

Question Number : 89 Question Id : 87827024873 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which one of the following criminologist is not a proponent of the positive school of
criminology ?

(1) Cesare Baccatia
(2) Cesare Lombroso

)
(3) Raffaele Garofalo
(4) Enrico Ferri

Options:

87827098193. 1
87827098194. 2
87827098195. 3

87827098196. 4

Question Number : 89 Question Id : 87827024873 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafed § 9 SR-1 SATUEEh SILee & RS Ger &1 UiduRE T8 ¢ /
i Eecaite|

Options :

87827098193. 1
87827098194. 2
87827098195. 3
87827098196. 4

Question Number : 90 Question Id : 87827024874 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

The major premise of which one of the following criminological theory is “people whoadopt
the goals of society but lack the means to attain them seek alternatives, such as crime’ ?

(1) Differential Opportunity Theory
(2) Social Disorganization Theory
(3) Rational Choice Theory

(4)  Anomie Theory

Options :

87827098197. 1
87827098198. 2
87827098199. 3

87827098200. 4

Question Number : 90 Question Id : 87827024874 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S % T ) T T R (o T S a6 @ W o HER 9 2 | 9 e
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Options :

87827098197. 1
87827098198. 2
87827098199. 3

87827098200. 4

Question Number : 91 Question Id : 87827024875 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are ‘cognizable offences as per the Code of Criminal Procedure,
19737

() Voluntarily causing hurt

(B) Cheating by personation

(C) Wrongfully restraining any person

(D) Cheating

(E) Snatching

Choose the correct answer from the options given below :

(1) (4)(8),(C), D), (E)

Options :

87827098201. 1
87827098202. 2
87827098203. 3

87827098204. 4

Question Number : 91 Question Id : 87827024875 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(C) Torsil =t =il Terd ek § Ufteg
(D) o

(E) B
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Options :

87827098201. 1
87827098202. 2
87827098203. 3

87827098204. 4

Question Number : 92 Question Id : 87827024876 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following directives were issued by the Supreme Court in Prakash Singh and
ors V Union of India and ors case pertaining to Police Reforms ?

(A) Setting up of Police Complaint Authorities

(B) Minimum Tenure for Police officers on Operational duties
(C) Separation of Investigation from Law and order wings

(D) Enhancement of Teeth to Tail Ratio in Police

(E) Enhancement of Police-Public Ratio

Choose the most approprlate answer from the options given below :

Options :

87827098205. 1
87827098206. 2
87827098207. 3

87827098208. 4

Question Number : 92 Question Id : 87827024876 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) (A) ) (C (D), ®

() % (4) (8) () ()

Options:

87827098205. 1
87827098206. 2
87827098207. 3

87827098208. 4

Question Number : 93 Question Id : 87827024877 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following are considered as Institutional Treatment methods ?

—

A) District prison

B) Pennsylvania system
)
)

—

() Admonition

D) Auburn system

E) Central prison

hoose the most appropriate answer from the options given below :
(A), (B),(C) only

(©), (D), (E) only
(B), (C), (D), (E)only
(4), (B), (D), (E) only

— —

r"‘j’-—-\.

(1)
2
G
()
Options:

878270982009. 1
87827098210. 2
87827098211. 3

87827098212. 4

Question Number : 93 Question Id : 87827024877 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fr=ifera o 9 fo geenfaes sy=r fafy amt s & 2

(A) TSI FRAR

(B) YeifEeafan yomeft
(C) et

(D) &HTa gomet

(E) =l MR

= feu 7o fashegi § 9 W& 3T &1 =994 HifSU ;
(1) Fad (A), (B), (O)

(2) a4 (C), (D), (E)

(3) & (B), (O), (D), (E)

(4) FFA (A), (B), (D), (E)

Options :

87827098209. 1

87827098210. 2

87827098211. 3

87827098212. 4

Question Number : 94 Question Id : 87827024878 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is the purpose behind pre-mature release ?

(A) Reformation and rehabilitation

(B) Saving for public exchequer

(€) Utilization of family and community resources
(D) Concession to the wrong doer

(E) Opportunity to commit crime
Choose the most appropriate answer from the options given below :

(1) (A), (B)and (C)only
@ (A),(B),(C)and (D) only
®) (A)({)(C)(D)and (B
4) (C),(D)and (E)only

Options:

87827098213. 1
87827098214. 2
87827098215. 3

87827098216. 4

Question Number : 94 Question Id : 87827024878 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



qe-3afy gl 2F | gd {@TE 1 = gAsH g ?
(A) FUR AR gTa™

(B) WM @ ki 9dd

(C) T IR AHEIHH FHIEH H1 START
(D) eI hed hiAard =l f@mad

(E) 3UUY L Sl 3T

= feu 7o fashegi § 9 W& 3T &1 =994 HifSU ;

(1) Fad (A), (B) ¥R (C)
(2) Fd (A), (B), (C) #R (D)
(3)  (A), (B), (O), (D) ¥R (E)
(4) FFd (C), (D) IR (E)

Options:

87827098213. 1
87827098214. 2
87827098215. 3

87827098216. 4

Question Number : 95 Question Id : 87827024879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following constitute Correctional Treatment ?

(A) Therapy

(B) Counselling

(C) Vocational Rehabilitation
(D) Milieu Therapy

(E) Behaviour Therapy
Choose the most appropriate answer from the options given below :

(1) (A),(B)only

(2) (A), (B), (C)only

() (A), (B), (C),(D)only
), (B)

(@) (4),(8),(C), D) (E)

Options:

87827098217. 1
87827098218. 2
87827098219. 3

87827098220. 4

Question Number : 95 Question Id : 87827024879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) Tafeme

(B) 9UHSH

(C) =EHIgF qAaid

(D) ufteer faferan

(E) IR fafhcd

= feu 7o fashegi § 9 W& 3T &1 =994 HifSU ;
(1) ad (A), (B)

(2) ad (A), (B), (O)

(3) % (A), (B), (C), (D)

(4)

(A), (B), (©), (D), (E)
Options :

87827098217. 1

87827098218. 2

87827098219. 3

87827098220. 4

Question Number : 96 Question Id : 87827024880 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the sequence of collection of crime data published by the Ministry of Home Affairs,
Government of India:

(A) State Crime Record Bureau - SCRB

(B) District Crime Record Bureau - DCRB

(C) Police Station

(D) National Crime Record Bureau (NCRB)

Choose the most appropriate answer from the options given below

1) (6,00

) (0, @) (4) D
B), (4),(C), D)

0, D), B), (4)

—— el

I

)
)
)

=
—

4

2
()
4 ,

ﬁﬁ’__‘_
—
—— L —

Options:

87827098221. 1
87827098222. 2
87827098223.3
87827098224. 4

Question Number : 96 Question Id : 87827024880 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(B) fofem s firerg -2
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Options :

87827098221. 1
87827098222. 2
87827098223.3

87827098224. 4

Question Number : 97 Question Id : 87827024881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the sequence of theories of punishment in the order in which they evolved ?
(A) Deterrence theory

(B) Preventive theory

(C) Retribution theory

(D) Reformative theory

Choose the most appropriate answer from the options given below :
(1) (&) (), (©), D

2 ) (C) O) (&)

() (), (4) ), )

4 D) (©) (A) ©)

Options:

87827098225. 1

87827098226. 2

87827098227. 3

87827098228. 4

Question Number : 97 Question Id : 87827024881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Qe o FAiTehd THgidl bl 3Tk IS[ahM o SMHR W W H SAaIfed Hifo |
A) wfy g

(B) fame feqHid

gy fagyid

(D) HURIHS fHgHd
i fou Tu fokedi | ° WE I F 99 i ;
(1) (4) (B), (O, D)
(2) (B), (O, (D), (A)
(3) (©), (@A), (B), (D)
(4) (D), (©), (A), (B)
Options:
87827098225. 1
87827098226. 2
87827098227. 3

87827098228. 4

Question Number : 98 Question Id : 87827024882 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following are related to J.J. Act (2015) ?

(A) Child Welfare Committee
(B) Juvenile Police Unit

(C) Shelter home

(D) Juvenile Justice Board

(E) Observation home

Choose the most appropriate answer from the options given below :
i (A), (B),(C) only

(2 (©), (D), (E)only

() (A), (B), (C),(D)only

(@) (4),(8),(C), D) (E)

Options:

)
)
) (A)(
(

87827098229. 1
87827098230. 2
87827098231. 3

87827098232. 4

Question Number : 98 Question Id : 87827024882 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fetiferd & @ #F | oo fReiR = afufem (2015) 9 Heg €2
(A) o e FiAfd

(B) feoruiR-gferd T

(C) TR

(D) TR =g @re

(E) J&MTR

= feu mu fasmedi # 9 W& 3T 1 =9 HifeC
1) =ad (A), (B), (C)

) @ad (C), (D), (E)

) Fad (A), (B), (C), (D)

) (A), (B), (O (D), (B)

Options :

X
2
(3
(4

87827098229. 1
87827098230. 2
87827098231. 3
87827098232. 4

Question Number : 99 Question Id : 87827024883 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following are related to Delinquency Prevention ?

(A) Creating recreations spaces with adult supervision

(B) Developing play areas
)
)

M

(C) Harshlaws

(D) Setting up of libraries

(E) Removal of factors leading to delinquency

Choose the most appropriate answer from the options given below :
1 (A), (B),(C) only

) (C), (D), (E)only

3) (A) (B), (C), (D) only

4) (A), (B), (D), (E) only

Options:

)

— —

)
)
)

—

(
(

‘_..--...__

87827098233. 1
87827098234. 2
87827098235. 3

87827098236. 4

Question Number : 99 Question Id : 87827024883 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fretiferd o 9 = 9= fary | Hsiftd €7

(1) & (A), (B), (O
(2) & (C), (D), (E)
(3) Fad (A), (B), (), (D)
(4) 9 (A), (B), (D), (E)
Options :

87827098233. 1
87827098234. 2
87827098235. 3
87827098236. 4

Question Number : 100 Question Id : 87827024884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following are “status offences” ?
(A) Robbery

)

(B) Vagrancy
)
)

=]

(C) Underage Driving

(D) Truancy

(E) Underage smoking

Choose the correct answer from the options given below :
(1)  (A) (B), (C)only

(2) (B), (C), (D), (E) only

3) (A) (©), (D), (E)only

(4) (A)and (E) only

Options:

87827098237. 1
87827098238. 2
87827098239. 3
87827098240. 4

Question Number : 100 Question Id : 87827024884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



iR 9 9 F 9 sy ¢ ufefd stouy’’ €2

(A) <

(B)  STERFTE!

(C) AIa%R A H HIA-AT=RA FAM
(D) ied AR

(E) 3a9%h g H gHIH

= fou 7 fasmeyl § 9 W& ST 1 I99 HifI
%ad (A), (B), (C

)
B), (©), (D), (E)

Options:

87827098237. 1
87827098238. 2
87827098239. 3

87827098240. 4

Question Number : 101 Question Id : 87827024885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following increase the potential of victimization ?

(A) Target vulnerability
(B) Economic loss
(C) Target grafitability
(D) System Abuse

(E) Target antagonism

Choose the most appropriate answer from the options given below :
(1) (A),(B),(C)only

() (O, (D), (E)only

(3)  (A),(C), (E)only
(@) (B),(C)(D)only
Options:
87827098241. 1
87827098242. 2
87827098243. 3

87827098244. 4

Question Number : 101 Question Id : 87827024885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freAiferd o 9 fofd deall o RO IS ol G 95 Sl @ 2
(A) =T e (9g)
(B) e 7ifA
(C) W% i A
(

(

D) Yullel! sl G&YAN
E) &% gfd qu

w1 few T foeredt & & Hel SUgeR ST H T T :

(1) =ad (A), (B), (©)
(2) w9d (O), (D), (E)
(3) @ (A), (C), (E)
(4) 9 (B), (O) (D)
Options :

87827098241. 1
87827098242. 2
87827098243. 3

87827098244. 4

Question Number : 102 Question Id : 87827024886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following are consequences of victimization ?

(A) Long-term stress
(B) Fear

(€) Change in life style
(D) Economic loss

(E) System abuse

Choose the most appropriate answer from the options given below :
(1) (A),(B),(C), D) (E)

@) (B),(C), (D), (E)only

) (© D) (E )Uﬂly
() (D) (E)onl

Options:

87827098245. 1
87827098246 2
87827098247. 3

87827098248. 4

Question Number : 102 Question Id : 87827024886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



feiferd | 9 71 3cdte & gRomy € 2

(A) <rerfenferes gfdera
(B) &

(C) et § uftad
(D) 3ifeir B

(E) Ul 1 g&IART

i< feu U faeredi § & Teaw SUFSR St T4 hifST

(1)  (A), (B), (C), (D), (E)
(2) = (B), (O), (D), (E)
(3) @ (C), (D), (E)
(4) 9 (D), (E)
Options :

87827098245. 1
87827098246. 2
87827098247. 3

87827098248. 4

Question Number : 103 Question Id : 87827024887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is correct about 'victimless Crimes’ ?

(A) These are offences, which though punishable under the law, do not have any direct
harm on others,

(B) Vagrancy, begging and drunkenness are considered as victimless crimes,

(C) Legality or [legality of victimless crimes depends mostly upon the morality and
economic interests of the community.

(D) Sale and use of prohibited substances, soliciting and bestiality are considered as
victimless ctimes.

(E) Predatory crimes are also called victimless ctimes

Choose the most appropriate answer from the options given below :

1) (4(8,0.0)

Q) (A) ), C) (D) only

B (8),(C) (D) (E)only

) (), (C)(E)only

Options:

)
)
87827098249. 1
87827098250. 2

87827098251. 3
87827098252. 4

Question Number : 103 Question Id : 87827024887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



"ifen fen sy & oA Pt 8 9 #0-8 TR W ¢

A) 3 TR o ) Y R o R S € o 3R 9 e ) o e ) e
T g &l

(B) ST, g it SRrerat 1 el oy A 7 2|

(C) i e STF0Y 3 R FRT Gl T ) A G WG ] Ao R e
fedl Wi &l

(D) Y ey = el SR S, A A &% e e 1 e e R0 A 9 ¢

(E) Feqeh o o it wife e e ) 1 €

e few T fore 1 e U 9% 1 7 L

(1) (A), (), (C) ©) [

() %@ () 6) ) 0

3) % @) (C) () )

(4 % B), () (B

Options:

87827098249. 1

87827098250. 2

87827098251. 3

87827098252. 4

Question Number : 104 Question Id : 87827024888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is correct about crimes against women and children according to
Crime in India-2021" report ?

() Crimes against women registered in 2021 has shown a decrease over the year 2020,

(B) Most number of cases under crime against women under IPC were registered under
‘Cruelty by husband or his relatives” during 2021.

) Crimes against chil dren registered in 2021 has shown a decrease over the year 2020,
) The crime rate registered per lakh women population in 2021 is in the vicinity of 105.
) The crime rate registered per lakh children population in 2021 is in the vicinity of 34
h

Options:

87827098253. 1
87827098254. 2
87827098255. 3
87827098256. 4

Question Number : 104 Question Id : 87827024888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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TR
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(B) = 201 W R € e o S Agenal o W Vol A o A At el ol
71 35k el 50 " o e ol

() 3 2021 ¥ arT] 6 W Vel e W 2000 F T § 7 4 2

(D) 8 2021 ¥ ¥fd i Hfechal %1 Fen § Taga SR A 105

(E) 0 2001 ¥ ¥ R v =0 5T ST T 3 R 4 ¢

At o o ferpedt © 3 ) o o T F

(1) (A) () () D), ®

() (4), (B).(C) ()

3 ¥ B, 0)

() @) [

Options:

87827098253. 1

87827098254. 2

87827098255. 3

87827098256. 4

Question Number : 105 Question Id : 87827024889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following are community situational crime prevention model ?
(A) Encourage neighbourhood stability

(B) Organize weekend activity with adult supervision

©
(D) Control truancy

(E) Organize after-school activity with adult supervision
Choose the correct answer from the options given below :

) (4)(8),(C) D) E
B), (C), (D), (E) only

Prohibit cash in schools

)
)
G
)
Options:

87827098257. 1
87827098258. 2
87827098259. 3

87827098260. 4

Question Number : 105 Question Id : 87827024889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freifera & § oo wgem fefame sty framor fredt €2

(A) TSR F T e

(B) o SAfed o TG0l H HIE o 3d § HAheny AN F
(C) Thell H T %1 Hfauy
(
(

D) hded TR i R e
E) 995 o Y90 § el o d18 o Tffary e e
A= fou U foehedi | ¥ Wel I 1 F5F I :

(1) (A), (B), (O (D), (E)
(2) %= (B), (O), (D) (E)
(8) % (C), (D), (E)
(4) 9 (D) 3 (E)
Options :

87827098257. 1
87827098258. 2
87827098259. 3

87827098260. 4

Question Number : 106 Question Id : 87827024890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Criminology is a science that studies :
(A) Definition of Criminality

(B) Crime and criminal behaviour
©

(D) Forms of Criminal behaviour

(E) Societal reaction to criminal activity

Choose the correct answer from the options given below :
1) (A), (B),(C), (D), (E)

(2) (B), (C), (D)only

3) (B), (C), (D), (E) only

4) (A), (B),(C)only

Options:

Causes of Crime

]

87827098261. 1
87827098262. 2
87827098263. 3

87827098264. 4

Question Number : 106 Question Id : 87827024890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



RTS8 faaH €, foed st fohan i 2
(A) STYUTEER Sl g

(B) YUY AR AYEH Fed

(C) SIUH-HIL A =ITedl Ao

(D) SAIUfHF SFeER & &Y

(E) SAquferes sed st |ifser fdferan

= feu 7o fashegi § 9 W& 3T &1 =994 HifSU ;

(1) (A), (B), (C), (D), (E)
(2) a4 (B), (O), (D)
(3) = (B), (C), (D), (E)
(4) FFA (A), (B), (O)
Options :

87827098261. 1
87827098262. 2
87827098263. 3

87827098264. 4

Question Number : 107 Question Id : 87827024891 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which one of the following is not included in the psychosexual stages of human development
according to Sigmund Freud in the psycho-analytical theory of criminology ?

(A) Oral stage

(B) Analstage

(C) Transition stage

(D) Phallic stage

(E) Latency stage

Choose the correct answer from the options given below :
1) (4)(8)0) (B only

Options :

87827098265. 1
87827098266. 2
87827098267. 3

87827098268. 4

Question Number : 107 Question Id : 87827024891 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



oUW % STTHR SRR o SRy fogend H Freferd o 1 WA o o i
el Wit 7 27

wie ot O feeredl o 9 W0 S A T
1 (A), (8), (), (§)
(2 (A), B) ), )
(3 (B) (C), (D), (E)
( (

)
)
)
4) = (), (C), (D), (B

- EEE

Options:

87827098265. 1
87827098266. 2
87827098267. 3

87827098268. 4

Question Number : 108 Question Id : 87827024892 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following somatotypes are proposed by William Sheldon in the biological
theory of criminal behaviour ?

(A) Physiognomy

(B) Endomorphs

(C) Phrenology

(D) Mesomorphs

(E) Ectomorphs

Choose the most appropriate answer from the options given below

1) (A),(B).C), (D)only

Options :

87827098269. 1
87827098270. 2
87827098271.3

87827098272. 4

Question Number : 108 Question Id : 87827024892 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827098269. 1
87827098270. 2
87827098271.3

87827098272. 4

Question Number : 109 Question Id : 87827024893 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Phrenology is associated with which of the following ?
(A) Determining intelligence and personality on the basis of the size and shape of the skull.

(B) Certain areas of the brain corresponded to various psychological and intellectual
characteristics.

(C) Investigation of the bumps and other irregularities of the skul.

(D) Anomie

(E) Humanmental powers can be analysed into a definite number of independent faculties.
hoose the correct answer from the options given below :

'

Options :

87827098273. 1
87827098274. 2
87827098275. 3

87827098276. 4

Question Number : 109 Question Id : 87827024893 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) U % SRR AR SR & YR R g AR Al H SFauw |
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(C) SHR ol S0 G2 hUTel i 31 SATAH |
(
(

D) U |
F) W8 i rrge i fied e e o &9 H favelfid & 1 Fed ¢
A4 fou T foskedi § B W& TR H T ST :

Options:

87827098273. 1
87827098274. 2
87827098275. 3

87827098276. 4

Question Number : 110 Question Id : 87827024894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following forms are the basis of the neutralization theory propounded by Sykes
and Matza ?

(A) Criminals sometimes voice a sense of guilt over their illegal acts.
(B) Offenders frequently respect and admire honest, law-abiding people.
(C) Criminals and delinquents offen suffer brain impairment

(D) Criminals draw a line between those whom they can victimize and those whom they
cannot.

(E) Criminals are notimmune to the demands of conformity.
Choose the most appropriate answer from the options given below
1) (4)8)(,D)only

0 ()(0,0)Bory

) (4)8)(0) oy

{4 (0,0} (Eory

Options:

87827098277. 1
87827098278. 2
87827098279. 3

87827098280. 4

Question Number : 110 Question Id : 87827024894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) ST 3 -t ST TR e ot - e o e
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() e &R v . e faeem 4 e 2 €1

(D) e i e 0 w4 € iR e g e g e €, e e €

(E) AR e 3t A & 5 T 4 2

1 o T et H 9§ ) 9 1 A I

1) % (A), (8 (C) (D)
(8), ©). (D). (B
(A), (B), (D), (E)
(©) (), ()

2

(
(
3
(

%’%"%’

4
Options:

87827098277. 1
87827098278. 2
87827098279. 3

87827098280. 4

Question Number : 111 Question Id : 87827024895 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following includes the common characteristics of critical criminology ?
(A) Crime is a label attached to behaviour, usually that of the less powerful in society.

(B) More powerful groups in society control the labelling process to protect the vested
interests of the groups.

(C) The contlictmodel rather than the consensus model explains the criminalization process.
(D) Crime in often a rational response to inequitable conditions in capitalist societies.

(E) Crime i a function of chemical, neurological, genetic, personality, intelligence, or
mental traits,

Choose the most appropriate answer from the options given below

(1) (), 8),(C), (D)only

0 (8(0)0)Bory
B (0)0) Bonly
(4 (3)(C) 0} By

Options:

87827098281. 1
87827098282. 2
87827098283. 3
87827098284. 4

Question Number : 111 Question Id : 87827024895 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827098281. 1
87827098282. 2
87827098283. 3

87827098284. 4

Question Number : 112 Question Id : 87827024896 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following are associated with open prison philosophy ?
(A) Trust

(B) Tolerance

(C) Truth

(D) Totality

Choose the most appropriate answer from the options given below :

() (4)®) () [D)

Options:

87827098285. 1
87827098286. 2
87827098287. 3

87827098288. 4

Question Number : 112 Question Id : 87827024896 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frfafead § 9 SH-9 G FROR & 9 9 9a6id © 2

(A) Towarg
(B) HETYlicAd
(C) HeHd

(D) Fegoim
14 feu U foredi # 9 TaH SUFSRT St 1 T4 iU :
(1) (A) (B), (O), (D)



Options :

87827098285. 1
87827098286. 2
87827098287. 3

87827098288. 4

Question Number : 113 Question Id : 87827024897 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which among the following countries have abolished death penalty ?
(A) Netherlands
(B) Switzerland
(C) Denmark
(
(

=

D) Sweden

E) England

Choose the most appropriate answer from the options given below :
(1) (A),(B),(C)and (D) only
(2) (B),(C),(D)and (E) only
3) (C),(D),(E)and (A)only
4) (D), (E),(A)and (B) only
Options:

87827098289. 1

87827098290. 2

87827098291. 3

87827098292. 4

Question Number : 113 Question Id : 87827024897 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freferfad o 9 form 39 3 gogee & 9o & w9 § gung o o 7

(A) Hiewive

(B) fragsaive

(C) =Tmh

(D) WA

(B) 3wive

Al fqu U foshed| | | Wor Suger I 1 TI FITSU
(1) =@ (A), (B), (C) ¥R (D)

(2) % (B), (C), (D) ¥R (E)

(3) ad (C), (D), (E) ¥R (A)

(4) a4 (D), (E), (A) ¥R (B)

Options:

87827098289. 1
87827098290. 2
87827098291. 3
87827098292. 4

Question Number : 114 Question Id : 87827024898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following three types of prisons are existing in India ?
(A) Taluka prison

(B) Central prison

(C) District prison

(D) Open prison

Choose the most appropriate answer from the options given below :

(1) (A),(B)and (C)only

(2) (B),(C)and (D)only
3 (C),(D)and (A)only
(4) (D), (A)and (B) only

Options:

87827098293. 1
87827098294. 2
87827098295. 3
87827098296. 4

Question Number : 114 Question Id : 87827024898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e H el (FRMR) & fefafad § 9 #9-9 yer faegmm 8 2

(A) TIEH HRATR

(B) ohf=d HIMR

(C) T R

(D) e FHRAR

o feu 7u fomedi § 9 W& ST FH1 T HIfGU ;
(1) e (A), (B) 3R (C)

(2) ad (B), (C) ¥R (D)

(3) ad (C), (D) 3R (A)

(4) I (D), (A) 3R (B)

Options :

87827098293. 1
87827098294. 2
87827098295. 3
87827098296. 4

Question Number : 115 Question Id : 87827024899 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following is not a Fundamental Right under the Indian Constitution ?
(A) Toassemble peaceably and without arms

(B) Tosecurejustand humane conditions of work

(C) To safeguard public property and to abjure violence

(D) Tomove freely throughout the territory of India

(E) To practice any profession, or to carry on any occupation, trade or business
Choose the correct answer from the options given below :

Options:

87827098297. 1
87827098298. 2
87827098299. 3

87827098300. 4

Question Number : 115 Question Id : 87827024899 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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%ad (A), (B), (D), (E)

Options:

87827098297. 1
87827098298. 2
87827098299. 3
87827098300. 4

Question Number : 116 Question Id : 87827024900 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - [ with List - 11
List -1 List 11
(A) RobertSampsonand JohnLaub () Age-graded theory
(B) Michael Gottfredson and Travis () General theory of crime
Hirschi
(C) Robert Agnew (M) General theory of crime and delinquency
(D) Rolt Loeher (IV) Pathways to crime
Choose the correct answer from the options given below :

1) (AR0), (M) (CHII), (DATV)
A1), (BT, (CHIV), (DA
AN, (B(1V), (CHIT), (DM
ANIV) (B, (CHIT), (DA

Options :

(
Q|
) |
Gl
87827098301. 1
87827098302. 2

87827098303. 3
87827098304. 4

Question Number : 116 Question Id : 87827024900 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Telt-1 o 919 Tell-11 1 e ifefe

Tlt-1 Tlt-11
( A @ () Us-Tree o) (3-8 i)
(B) et Terey ai 3o feeh (M) o 1 T g
( () 350 T8 SR A 9 g
( (IV) 390 % 7

=

fow o foeredt H 9 W& IR A T A
1)

2) (AK

(3) (A,
4)  (AHIV),
Options :
87827098301. 1
87827098302. 2
87827098303. 3

87827098304. 4

Question Number : 117 Question Id : 87827024901 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - [ with List - IT
List -1 List-11

(A) TheFirst Schedule of the Cr.P.C. ~ (I)  Format for warrant of Arrest

(B) TheSecond Schedule of the Cr. P.C. () Classification of offences

(C) Section154 of Cr,P.C. () First Information Report

(D) Section164 of Cr,P.C. (IV) Recording of confessions and statements

Choose the correct answer from the options given below :

(1) (AR, (K, (CHIID, (DHIV)
&) (AR, (BH1), (CH1I, (DHIV)
() (AM, (BHIV), (CH, (D)
() (AHV), (BHD), (CH, (D)

Options:

(
( ()
( ()

87827098305. 1
87827098306. 2
87827098307. 3

87827098308. 4

Question Number : 117 Question Id : 87827024901 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ol-1 % 914 el 11 1 e o

(A) e o e 1 Teelt A () R o o1 A

(B) WA e A W AT () A A

(C) v Wik e 1 o 154 (1) W e e (e

(D) %W i e &1 4 104 (IV) el {9 a1 e o o
Aol e T fomed § 9 W S A o i

(1) (A-), (B}), (CHIL), (D)-IV)

2 (AMI) (B)-{), (CHIL), (D-IV)

(3) (AR, (BIV), (CH, (D)0

(4 (AHIV), (B)-{, (C}-{m), (D)-{0)

Options :

87827098305. 1
87827098306. 2
87827098307. 3

87827098308. 4

Question Number : 118 Question Id : 87827024902 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II
List-1 List- 11

(A) Al human beings shall be treated with ~ (I)  Principle of natural justice
equal dignity and rights

(B) Basic procedural standards of fairness () Principle of dignity and north
shall be adhered to

(C) Measures for dealing with childrenin (I} Principle of non-stigmatising
conflict with law without resorting to semantics
judicial proceedings

(D) Adversarial or accusatory words arenot  (IV) Principle of diversion
to be used in the processes pertaining to

a child
Choose the correct answer from the options given below :

(1) (M, (BH), (1Y), (DAI)
%) (AHD), (BHI), (CHIV), (DHII)
() (-0, (BHID), (O, (DHIV)
(4) (AHIV), (BHI), (CHI), DA
Options:

878270983009. 1

87827098310. 2

87827098311. 3

87827098312. 4

Question Number : 118 Question Id : 87827024902 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Telt-1 % W19 Felt- 11 1 fiier ifoe
Tll-1 Telt-1I

(A) TR I R TGAR () T 2 & g
R % H TR o S

(B) Frover & e Wi W B e () e R v o gl
ERIEI

(C) A el 1 g fer i fafy-foreg  (11D) eientfea ifeert 1 fargia
aierehi 9 e o it sum

(D) i © Hefed Yiwaiadl § A S (V) 9o i
AEITeS WIed) o1 W ] fohel ST % |

e feu T foehedl H § W& I 1 T o

(1) (A, (B)-(1), (CHIV), (D))

2) (A0, (BHI), (CHIV), (D)-(IM

(3) (A0, (BHI), (CHI), (D)(IV)

(4)  (AM(IV), (B)-(I, (C-(I), (D)-1

Options:

878270983009. 1

87827098310. 2

87827098311. 3

87827098312. 4

Question Number : 119 Question Id : 87827024903 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - [ with List - IT :

List -1 List-11
(A) The criminal and his victim : studies in the sociobiology (I) Menachem Amir
of crime

(B) The victimand his criminal : A study in Functional () Marvin Woltgang
Responsibility

(C) Victim precipitated homicide (I} StephenSchater

(D) Attributes of Victim precipitated rape (IV) Hans von Hentig

Choose the correct answer from the options given below :

(1) (AME) (BHID), (CHIID, (DHIV)
2 (A)ﬂ)( )(HI)( HIV), OH0)
(9) (AHIV), (BMI), (CHIT), (DH)
(4) (AMI), (BH(), (CHLV), (DH)
Options:

87827098313. 1

87827098314. 2

87827098315. 3

87827098316. 4

Question Number : 119 Question Id : 87827024903 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 o 94 Fel-11 % fier 1T
a1 a1l

(A) @ fafirfel e fet fofeen « T2l 77 < Wil % 0 (1) A R
(B) € faferm e et ipfirter : 0 el 39 et fremififaferd (1) e g
) fofem-Teifieze dfimee () T E
(D) ey 4w fafien-Tuifieds (IV) g e
At o o et 9 ) 3 o <

(1) (A){D), (B){m), (CH{Im, (D)(IV)

(2)  (AH), B}, C-(IV), (D)-()

() (A){IV), (A, (C)-(), (D)0

(4) (AHI, (BHTD), C-(IV), (D)-()

Options :

87827098313. 1
87827098314. 2
87827098315. 3
87827098316. 4

Question Number : 120 Question Id : 87827024904 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1:;

List-1 List-II
(A) Legalistic definition of crime () Paul Tappan
(B) Moditied legalistic definition of crime [l) Thorsten Sellin
(C) Violation of conduct norms () Edwin H. Sutherland

(
(D) Political and economic production of deviance (IV) Taylor.]
Choose the correct answer from the options given below :

Options:

87827098317. 1
87827098318. 2
87827098319. 3
87827098320. 4

Question Number : 120 Question Id : 87827024904 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 o H19 Telt- 11 1 e ife

(A) STFTY % A T () 2o
(B) T4 I HH T () 9 Hier
(C) SRRV HIETE I Jeectd () e TH. HeTels
(D) SR H AT 6 A e (IV) T T,
A fow o fomedt H 4 W 3R 1 A
(1) (A}1), (B}(I), (C-(I), D)-(IV)
2) (A)-{), B)-(I), (-, DHIV)
() (A)-(I), (B)-I1), (C)}-(IV), (D)-)
(4)  (AHD), (B)-(I), (CHIV), (D)
Options :

87827098317. 1
87827098318. 2
87827098319. 3
87827098320. 4

Question Number : 121 Question Id : 87827024905 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List =11

List-1 List - 11
(A) Focus Group Discussion ()  Qualitative Research
(B) Questionnaire (I) Quantitative Research
(C) Crime inIndia (IT) Secondary data
(D) Analysis of Case Laws (IV) Doctrinal Research
Choose the correct answer from the options given below :

(1) (AR, (B)-(II), (CHIV), (D))
(2)  (A)-(I), (B)-(IL), (C)}-(IV), (D))
(3)  (AMD), (B)-I), (), (D)-(IV)
(4)  (A)-(IV), (B}I), (O, (D)-(T)
Options:

87827098321. 1

87827098322. 2

87827098323. 3

87827098324. 4

Question Number : 121 Question Id : 87827024905 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



eit-1 o |19 Geit-11 1 fHer i

-1 -11

(A) RIRE-FHE famgl ()  TOTcHe 9y

(B) WeATEAL (I) HETHS M

(C) 9Rd H Ty () fgdtaen s
(D) wahtut fafy 1 fagersm (Iv) Hgifids e

i fqu U fashedl | 9 Wal 3T h1 T hifelT

(1) (A)-(D), (B)-(D), (O)-(1V), (D)-(I)

(2)  (A)-(ID, (B)-(II), (CO)-(IV), (D)-(0)

(3)  (A)-(D), (B)-(IN), (O)-(I1I), (D)-(IV)

(4)  (A)-IV), (B)-(III), (O)-(II), (D)-(0)

Options :

87827098321. 1
87827098322. 2
87827098323.3
87827098324. 4

Question Number : 122 Question Id : 87827024906 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1
List -1 List-1I
(A) Perennial absence from school is called () Beijing Rules

(B) Standard minimum norms/rules for Juvenilejustice- (I} Truancy
related UN Document is

(C) The UN Document related to prevention of Delinquency (I) Vulnerability
is called

(D) Unable to protect oneself from crime is called (IV) Rivadh Guidelines
Choose the correct answer from the options given below :

(1) (AR, (K, (CHIID, (DHIV)
o (A)ﬂ)( )(1):( HIV), (DI
(8) (AMIV), (BHI), (CHIT) (DK
(4) (AR, (BRI, (CHT), DHIV

Options:

A
(DA
HY)

87827098325. 1
87827098326. 2
87827098327. 3
87827098328. 4

Question Number : 122 Question Id : 87827024906 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Telt-1 o 91 Telt-11 1 e ife
Tlt-1 11

(A) T B AR (W) SFIEAfd Feam & (1) sfifei fpmaeh

(B) TR~ & Heif S T TS o flU A () oA @
T idH /e

(C) ¥R Framul § weifed W7 T T (I gelere (gea)

(D) Y § T H G A | (1v) e feamfra

el feu T foegi ¥ WY I A T I

(1) (AHD), (B-(I), (-, (DHIV)

(2) (A, (B)-(0, (CHIV), (DHII)

(3)  (AHIV), (BII, (C-(IT). (D)

(4) (A, (B)-(I), (CHD), (DHIV)

Options:

87827098325. 1
87827098326. 2
87827098327. 3

87827098328. 4

Question Number : 123 Question Id : 87827024907 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - T with List - I1:
List -1 List-1I

(A) Standard Minimum Rules for Prisoner () RK Kapoor Committer (1986)
Treatment by UNis

(B) The words Reformation and Rehabilitation () Nelson Mandela Rules
appeared for the first time in Indian Milieu in

(C) UN. recommendation for non custodial (I) Indian Jails Committee
measures is (1919-1920)

(D) Prison management in relation to security and (IV) Tokya rules
discipline was looked into by

Choose the correct answer from the options given below :

(1) (AR, (BHI, (CHD, (DHIV)
(2) (A)() (BH), (CHIH), (DHIV
() (AHIV), (BH), (CH), (DM
) (AK1), (BHII) CHV), (DM

Options:

)
)
)

87827098329. 1
87827098330. 2
87827098331. 3
87827098332. 4

Question Number : 123 Question Id : 87827024907 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tlt-1 % 9 ol 11 1 it e
Tl -1l
() TR TR T F I E R () A A (1986)
fopTee
(B) T e W R S Y Wk Wl S () Y e Fm
Rl
Q) sl H o % s 8 g g TR A (1) s A s (1919-1920)
ety
(D) % G0 AT AT ST o Hel H AR 9 # (V) 2 el
o 1 T
At feu T fommedt  § WY S o o A
(1) (AMHI), (BH), (CH(1, (DHIV)
D) (BH(T), (C1ID, (D}V)
1V), (B}, (C)-{I), (DJ-{)
I, (B)-(I -0)

(2
k
( 0, (B-(L), (©-IV), (D)

) (A)
) ()
4 (A
Options:

87827098329. 1
87827098330. 2
87827098331. 3

87827098332. 4

Question Number : 124 Question Id : 87827024908 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1:

List -1 List- 11

(A) Gap between goals and means creates deviance () ~ Social control theories

(B) Solid bonds getting weakened, reducing () Anomie theory
individual stakes in conformity, low self-interest
are related to |

(C) Social disorganisation and social conditions (I) Developmentaly lifecourse
cause deviance theories

(D) Antisocial potential constitutional studies are (IV) Social process theories
related to

Choose the correct answer from the options given below

(1) (AMHID, (BHE) (CHIV), (DA

(&) (M) (BHI), (CHI), (DHIV)
(9) (AT (BHI), (CHV), (DX
(4)  (AHIV), (BH{I), (CH{ID, (DM0

Options:

87827098333. 1
87827098334. 2
87827098335. 3
87827098336. 4

Question Number : 124 Question Id : 87827024908 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tlt-1 % 9 ol 11 1 it e
Tl Ta-1l
(A) TR A TR S A R () S e g
(B) SR 9% o el & § 7 - et 7 (1) o g
A fed Foed it 2
(C) et forasry i ok 20af o o0 e (1) foemmes /s gl
T
(D) s fova,; gy Heem v el € (IV) o Y g

ra o o fomett 9 4 ) S o A A
(1) (AMI), (B)-(), (CH1V), (DHI)

(2) (AHD, (BHI), (CH{I), (DHIV)

() (AM0, (BH{T), (CH1V), (DHI)

(4) (AMIV), (B, (C-(I), (D-()
Options:

87827098333. 1
87827098334. 2
87827098335. 3
87827098336. 4

Question Number : 125 Question Id : 87827024909 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1
List -1 List-11
(A) To make a machine or network resource ) Malware
unavailable

(B) Hostile or intrusive software like Trojan () Whaling
Horse, rootkits, worms, adware are called

(C) When phishing is done with the help of (L) Denial-of-servile (DOS)
telephonic system it is called

(D) Phishing attracts against senior executives  (IV) Vishing
or high profile targets. It is called

Choose the correct answer from the options given below :
(1) (A)-(I)I(B)-(IH):(C)-(H),(D)-(W)

2
(
(4

(]
e i

Options:

87827098337. 1
87827098338. 2
87827098339. 3

87827098340. 4

Question Number : 125 Question Id : 87827024909 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



o1 & 1 el- 11 o e
-1 -1l
(A) WO o o S ] S A () R
B) TR Ao S B A 21 g, ®2hheE, () ol
77 TG el ¢
() 9 2w % W & fefym (e A St g, (1) feoe- - (€1..0w) B
T T
(D) 9 AR 7 A 2 o g fR  (1v) fofim
1 6 ¢, 7 el ¢
At o T forkedl # % W) 30 A1 o A ¢
(1) (A-{D) (BM{I), (C-{I, (DHIV)
1), (B)-1), (C-{IV), (DHI)
D) (BM{), (CHIID, (DK(IV)
IV), (BHIID )

e
(3) (AH]) Ml
( V), (BI(IL, (O, (D)

) (&)
) (A
4 (A
Options:

87827098337. 1
87827098338. 2
87827098339. 3

87827098340. 4

Question Number : 126 Question Id : 87827024910 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Sequence the stages in which a capital punishment case proceeds in the Criminal Justice
System in India.

(A) Sentence by District Judge

(B) Appeal to High Court

(C) Mercy petition to Governor of State

(D) Appeal to Supreme Court

Choose the most appropriate answer from the options given below

(1) (4)(8).(C)(D)

&) (B)(C)O)(A)
) (4)(8),0)Q
4 (A)(C)().0)

Options:

87827098341. 1
87827098342. 2
87827098343.3

87827098344. 4

Question Number : 126 Question Id : 87827024910 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



I H ST Wi B Ye & FIel a1 ) o SoRiel o Shn W ofafe it
(A) Forem =t g0 derey

(B) AT H et

OREEREIER IR )

(D) e I H e

At few U fohedt § 3 1 35 01 o
(1) (4) (), (), O)

2 ®)(C) 0 (4)

() (&), (), D)

&) @), © 60

Options:

87827098341. 1
87827098342. 2
87827098343. 3

87827098344. 4

Question Number : 127 Question Id : 87827024911 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Sequence how criminological researches are conducted :
(A) Identify variable

(B) Construct tool of investigation

(C) Create objectives

(D) Select topic of research

(E) Define variables (operational definition)

Choose the correct answer from the options given below :
(1) (D), (A),(C),(B),(E)

) (D) (), (A), (E) (B)
3) (E), (D), (C) (B) (A)
4) (A)(B),(C) (D), (E)

Options:

]

87827098345. 1
87827098346. 2
87827098347. 3

87827098348. 4

Question Number : 127 Question Id : 87827024911 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YRS STHHM bl SATSH] i STIhH H HGRd HIfST :
A) T YEIH
B) 3F-a9Yl o WY (3yehRu) FHfHd e

(
(
(C) YA TR HT
(
(

D) IEYM & fawg g
E) = %1 ufeefid s (Hiearere aftmn)
= fou T fashed] § | W& 3T 1 T HIFC

(1) (D), (A), ©), (B), (E)
(2) (D) (©) (A) (E), (B)
(3) (E) (D), Q) (B), (A)
(4) (A), (B) (O) (D), (E)
Options :

87827098345. 1
87827098346. 2
87827098347. 3
87827098348. 4

Question Number : 128 Question Id : 87827024912 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Sequence how the proposition of Differential Association Theory appear, as explained by
Sutherland:

(A) Learning includes techniques of committing crime, motives, drivesand rationalizations.
(B) Itis learnt througha process of interaction.

(C) Motives/drivesis learnt from definitions of legal codes as favourable or unfavourable.
(D) Learning occurs within intimate, small personal groups.

(E) Criminal behaviour is learnt.

Choose the correct answer from the options given below :

Options :

87827098349. 1
87827098350. 2
87827098351. 3
87827098352. 4

Question Number : 128 Question Id : 87827024912 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TV o R favee Hewd fagi 1 yiomfiqal o0l arfpen § opafed i

(A) o ST FIRG F R AR, S, SAN 90 R WA 2 &
(B) & ST 1 Wik G0 A e 2

(C) 3T/ ST ] S A St Tt RTOTaA & el e ¢ |

(

(

D) aHfipm e, B e Wl § 3o 2 €|
F) Uit SRR 41 1 e ¢ |

T fou v fomrel B W& I 1 T Ffe
(1) (E) (D), B), ©) (A)
(2) (E) (A), (B) (D), (€
(3) (E) (B), (D), (A), (©
(4) (E), (©), (A) (D), (B)

Options :

87827098349. 1
87827098350. 2
87827098351. 3
87827098352. 4

Question Number : 129 Question Id : 87827024913 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Using the codes below, sequence how alcoholism as a disease progresses.
(A) Experimental usage

(B) Chronic stage

(C) Curiosity

(D) Regular usage

Choose the correct answer from the options given below :

M (4)©) ) D)

Options:

87827098353. 1
87827098354. 2
87827098355. 3

87827098356. 4

Question Number : 129 Question Id : 87827024913 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el T8 T e o1 A R g S ARG % -3 i i i ;
(A) TR 3T

(B) feremicren afemeen

(C)  SYHAE

(D) Frafi swEm

e few T femedt H 9 W@ I H T A

(1) (A), EC)f (B), (D)



Options :

87827098353. 1
87827098354, 2
87827098355. 3
87827098356. 4

Question Number : 130 Question Id : 87827024914 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Sequence how the case proceeds according to criminal procedure code :
(A) Detained in custody by police

(B) Bail by magistrate (in non-bailable cases)

(C) Arrest

(D) Judicial custody

Choose the correct answer from the options given below :

(©), (D), (B), (A)

Options:

87827098357. 1
87827098358. 2
87827098359. 3

87827098360. 4

Question Number : 130 Question Id : 87827024914 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



& iohdl Tfgdl ok STTHR ¥ i SH1ddTel I STHH H Hared Hifs ;
(A) gferd g e | Freg T
(B) W& g SHIA (IR M el H)
(C) Frward
(D) =ik sfen
T fou o faswedi O O W@ S F 791 HifC ;
(1) (©). D), (B), (A)
(2) (A), (B) (©), (D)
(3) (©, (B), (A), D)
(4) (©), (A), D), (B)
Options:
87827098357. 1
87827098358. 2
87827098359. 3

87827098360. 4

Question Number : 131 Question Id : 87827024915 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following theories as per the chronological order of their appearance.
(A) Labelling theory

(B) Positive school

(C) Routine activity theory

(D) Lite course theory

Choose the correct answer from the options given below :

1) (A) () (C)0)

2 (8)(4)C) D)
) (B)(4) D)€
4 (4)6).0)C



Options :

87827098361. 1
87827098362. 2
87827098363. 3
87827098364. 4

Question Number : 131 Question Id : 87827024915 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frrerfarfiad fagidl &1 376 oA & FIeshy o ST9R Safed Hifsu |
(A) afer fagh

(B) FHNIHH WA

(C) e wrwem fagid

(D) it %H fagid

e fou Tu foskedi § 9 Wel 3T H 997 FifaC ;

(1) (A) (B), (©), D)

(2) (B) (A), (©), (D)
(3) (B), (A), (D), (C)
(4) (A) (B), (D), (O

!

’
Options:
87827098361. 1
87827098362. 2
87827098363. 3

87827098364. 4

Question Number : 132 Question Id : 87827024916 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following classes of criminal courts hierarchically.
(A) Courts of session

(B) Judicial magistrate of the first class

(C) Judicial magistrate of the second class

(D) Executive magistrate

Choose the correct answer from the options given below :

(1) (A)(B), (D) (C)

@) (8),(C) (D) (A)

() (A)(B),(C) (D)

(4 (A) (D), B)(C)

Options:

87827098365. 1
87827098366. 2
87827098367. 3

87827098368. 4

Question Number : 132 Question Id : 87827024916 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefefad sty el o 9 6l | %H H SHafed Hifer |
(A) T3 A

(B) W Uil <k e HieRge

C) fadta 4uit =nfas wfoge

D) HEHN A2

A fou U fasedi § 9 GR IW 1 =47 HIfC

(1) (A), (B), (D), (©)

(2) (B) (©) D) (A)

(3) (A) (B), (O), (D)

(4) )



Options :

87827098365. 1
87827098366. 2
87827098367. 3
87827098368. 4

Question Number : 133 Question Id : 87827024917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Arrange the following author’s contribution to victimology, chronologically.
(A) Hansvon Hentig

(B) StephenSchater

(C) Marvin Wolfgang

(D) Menanchem Amir

Choose the correct answer from the options given below :

1) (4)®)()0)

Options:

87827098369. 1
87827098370. 2
87827098371.3
87827098372. 4

Question Number : 133 Question Id : 87827024917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Hifeqere H frefafad orae i Fessd § srafied Hifs
(A) &H oM Bf=

(B) EIHA IR

(C) HifeH JeRiFT

(D) HATHH 3FHIT

9 feu e fasredl § | WEr 3T 1 =47 HifeT :

(1)  (A), (B), (©), (D)

(
(2)  (A) (©Q), (B), (D)
(3) (A) (B), (D) (C)
(4)  (A) (©), D), (B)
Options:

87827098369. 1
87827098370. 2
87827098371. 3

87827098372. 4

Question Number : 134 Question Id : 87827024918 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Chronologically arrange the following international human rights instruments.
(A) Convention on the Rights of the Child.
(B) Convention on the Elimination of All Forms of Discrimination against Women.

(C) Convention against Torture and other Cruel, Inhuman or Degrading Treatment or
Punishment.

(D) International Covenant on Civil and Political Rights.
Choose the correct answer from the options given below -

(1) (B)(4),(C)(D)

&) (D) (B),(C)(A)
) (4)(8),(C)(0)
4 (8).0)(C)(A)

Options:

87827098373. 1
87827098374. 2
87827098375. 3

87827098376. 4

Question Number : 134 Question Id : 87827024918 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SRS YA GEIeel o HCATHH H oFafedd ifor :

(A) T SR e

(B) wfeenal & foeg Wl Wb o fawe (415 ) 1 HAIT Heiel atfiremg
(C) W T 1 T HHa 41 FeTehvita e 41 <8 o favg sy
(D) S fafaet Te Tefie st gefee

e fou T fosredi H ¥ W S H T S ;

(1) (B), (A) (), D)

(2) (D), (B). (
(3) (A) (B)(
(4) (B), (D) (
Options:
87827098373. 1
87827098374. 2
87827098375. 3

87827098376. 4

Question Number : 135 Question Id : 87827024919 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Sequence the adaptation enunciated by Merton, as it appeared in his explanation.
(A) Ritualism
(B) Conformity
(C) Retreatism
(D) Innovation

(E) Rebellion

Choose the correct answer from the options given below :

(1) (4), (D), (B). (E),(C)
2 (B),(D)(A)C)(E
G (4),(8) (C), (D) ()
(4 (E),(D) (C),(B), (4)
Options:

87827098377. 1
87827098378. 2
87827098379. 3

87827098380. 4

Question Number : 135 Question Id : 87827024919 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HeA B 37! A | TefUd Sihe <l T H eHafiyd hifer |
(A) faftarg

(B)  STTeddl

(C) U=THA

(D) =

E) fo=r

T feu e faswedi o 9 W@ SW F1 79 SIS
(1) (A), (D), B), E), (C)

(2)  (B), (D), (A), (), ()

(3) (A), (B), (Q), (D), )

(4) (E), (D), (), (B), (A)

Options :

87827098377. 1
87827098378. 2
87827098379. 3
87827098380. 4

Question Number : 136 Question Id : 87827024920 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : oneis labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A): The traditional crimes like murder, theft and rape etc are known as mala-in-
se type of crimes.

Reason (R):  There are many acts which are not crime despite the element of immortality
being present like adultary is not an offence.

[nthelight of the above statements, choose the correct answer from the options given below
(1) Both (A)and (R)are true and (R) is the correct explanation of (A)

(2) Both(A)and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A)is true but (R) is false

(4) (A)is false but (R) is true

— | —

Options:

87827098381. 1
87827098382. 2
87827098383. 3
87827098384. 4

Question Number : 136 Question Id : 87827024920 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T 21 A fEUTUE « T A Assertion (A) % 9 ¥ feifle & 1 S0 3666 0 Reason (R)
¥
VRO (A): 0 T SR T S W W S0 @ - () T

R ] A |

FOWR): T & I e o o T 2 g 3% w3 A
T 1 & 8 o e o 1 €

T B & e A {0 T foered 4 B w3 T @i

(1) (A) &R (R) 3 5 ¢ &R (R), (A) 1 1 2@ &

() (A) 3R (R) 3 0 & oo (R), (A) 1 T €A 7 €
() (A) A, it (R) 0 €

(4) (A) & 3, oif (R) 59

Options :

87827098381. 1

87827098382. 2

87827098383. 3
87827098384. 4

Question Number : 137 Question Id : 87827024921 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

StatementI:  Secondary deviance refers to the stigma once attached, the individual may
find it very difficult to escape the label and may come to identify with the
new deviant role.

Statement II:  All the convicted prisoners, after their release may again commit crimes
and may become recidivist.

[nthelight of the above statements, choose the correct answer from the options given below
(1) Both Statement I and Statement Il are correct

(2) Both Statement I and Statement Il are incorrect

(3) Statement Lis correct but Statement I1 is incorrect

(4) Statement L is incorrect but Statement I1 is correct

Options:
87827098385. 1
87827098386. 2

87827098387. 3

87827098388. 4

Question Number : 137 Question Id : 87827024921 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A PARTmE:
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Options :

87827098385. 1
87827098386. 2
87827098387. 3

87827098388. 4

Question Number : 138 Question Id : 87827024922 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

StatementI: It a person is tried and acquitted or convicted of an offence by a competent
court, he or she cannot then be tried again for the same offence, or on the
same facts for any other offence.

Statement II: ~ Retrial for some offence is toavoid malicious and unnecessary prosecutions,
which would cause infairness and harassment of the accused.

[nthelight of the above statements, choose the correct answer from the options given below
(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement 1is true but Statement Il is false
(4) Statement 1is false but Statement I1 is true

Options:

87827098389. 1
87827098390. 2
87827098391. 3
87827098392. 4

Question Number : 138 Question Id : 87827024922 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



LEEE RIS

w1 7 el o 0 o i & & e =7 g0 foreh e & e v o () @
Y firg TR 9 € 7 9 T 1 e o 3 4w 3 o o o o e %
fet 1 3 o TR . oo 1 ) W €

FORI: 3 o0 o ot . e 1 ey Qe o e ) R & ¢
Foges YOI ey VR o 19 e, iR 7 17 2 ¢

TR o % A H, e G0 T ol W SR ] A

Options :

87827098389. 1
87827098390. 2
87827098391. 3

87827098392. 4

Question Number : 139 Question Id : 87827024923 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement1: ~ One of the major shortcomings of ‘Crime in India“ Report is that it will not
account the undiscovered or unreported crimes.

Statement II:  The undiscovered or unreported crimes are called as “dark figure of crime”.
[n thelight of the above statements, choose the correct answer from the options given below :
(I) Both Statement Iand Statement [Tare true
(2) Both Statement [ and Statement Il are false
(3) Statement Iis true but Statement IT is false
(4) Statement Iis false but Statement IT is true



Options :

87827098393. 1
87827098394, 2
87827098395. 3
87827098396. 4

Question Number : 139 Question Id : 87827024923 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

CEEER AR
FL: G H w0 Gl o o e i 6w R ¢ g e (ssEen) @
yfafed T 1 TeerE T A
®L: S1-3gaeR 480 SAyfelica 04 1 S0 1 Aye W' (< TR i )
T € T €|
TR FA & oA ¥, e fou U ol © 9 ) S A T @i
R 7

%) HR] T § o B 1S

(1)

(2) BRI 59 ¢

()

(4) RN HEA ¢, Wl o 10 §
Options:

87827098393. 1

87827098394. 2

87827098395. 3

87827098396. 4

Question Number : 140 Question Id : 87827024924 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Given below are two statements : oneis labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A): Majority of the pioneers ike Dr. Hans. Von Henting and Dr. Henry Ellenbager
hold opinion that victiomology ought to be treated as a part of criminology.

Reason (R):  Whereas Benjamin Mendelsohn thought victimology to be a separate
discipline.

In the light of the above statements, choose the correct answer from the options given

below :

(I) Both (A)and (R) are correct and (R) is the correct explanation of (A)

(2) Both(A)and (R)are correct but (R) is NOT the correct explanation of (A)

(3) (A)iscorrect but (R) is not correct

(4)  (A)isnot correct but (R)is correct

Options :

87827098397. 1
87827098398. 2
87827098399. 3

87827098400. 4

Question Number : 140 Question Id : 87827024924 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

2

87827098397. 1
87827098398. 2
87827098399. 3
87827098400. 4

Sub-Section Number : 2
Sub-Section Id : 8782701087
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827024925 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



Read the passage given below and answer the question:

Crime brings an inordinate amount of shame, in certain cultures, especially in the Eastern world
like Japan, India. In Japan, criminal prosecution proceeds only when the normal process of public
apology, compensation and the victims forgiveness breaks down. Shame is a powerful tool of
informal socal control. Citizens in cultures in which crime is not shameful, such as United States,
donotinternalize an abhorrence for crime because when they are punished, they view themselves
as mere victims of the Justice System. Braithwaite divides the concept of shame into two distinct
types. Disintegrative shaming which involves stigmatization and degradation. The other being
reintegrative shaming where the disapproval is extended to the offenders’ evil deeds, which at
the same fime they are cast as respected people, who can be reaccepted by socety.

Sub questions

Question Number : 141 Question Id : 87827024926 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Separation of the offenders action from his person, per se, which assists reacceptance by the
society is called ?

(1) Shaming

(2) Shamelessness

(3) Disintegrative shaming

(4) Reitegrative shaming

Options :

87827098401. 1

87827098402. 2

87827098403. 3

87827098404. 4

Question Number : 142 Question Id : 87827024927 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following countries, does crime produce shame ?
(1)  United States

(2) India

(3) United kingdom
(4) Australia
Options:

87827098405. 1
87827098406. 2
87827098407. 3
87827098408. 4

Question Number : 143 Question Id : 87827024928 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The concept of shame, according to the paragraph is divided into :
(1) 2types

(2) 3 types

(3) 4types

(4) Many types
Options :
87827098409. 1
87827098410. 2
87827098411. 3
87827098412. 4

Question Number : 144 Question Id : 87827024929 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



When victims forgiveness and public apology of offender fails, criminal prosecution is
conducted in which of the following country ?

(1) Japan

(2) India
(3)  United States
(4) Australia

Options:

87827098413. 1
87827098414. 2
87827098415.3
87827098416. 4

Question Number : 145 Question Id : 87827024930 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Shame is considered as a powertful tool of :
(1) Crime
(2) Abhorrence
(3) Social control
(4) Victim
Options :
87827098417. 1
87827098418 2
87827098419. 3
87827098420. 4

Question Id : 87827024925 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (141 to 145)



Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 87827024926 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Sy e 3 AR A G2 Y S g e e 2k £, 30
Tt

(1) e (afer)

Y w

(3) T SIS (S () aT
) TS A

Options :

87827098401. 1

87827098402. 2

87827098403. 3
87827098404. 4

Question Number : 142 Question Id : 87827024927 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
frifra o @ forg S0 H STquy | SEAT St § 2
(1) HJH T 3R

(2) HId

(3) PR fehireH

(4) st
Options :

87827098405. 1
87827098406. 2
87827098407. 3

87827098408. 4

Question Number : 143 Question Id : 87827024928 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T & STTHR aeAmT ol fawaa foan T 2

(1) 29%R H

(2) 3UHR H

(3) 4YHM™ H

(4) ¥gd 9 YRRl H
Options :

87827098409. 1
87827098410. 2
87827098411. 3
87827098412. 4



Question Number : 144 Question Id : 87827024929 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

foeaiee A 4 fom < o @ e g 4 Fon 9T 4R St g e SR o e
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Options :

87827098413. 1
87827098414. 2
87827098415. 3

87827098416. 4

Question Number : 145 Question Id : 87827024930 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827098417. 1
87827098418. 2

87827098419. 3



87827098420. 4

Sub-Section Number : 3
Sub-Section Id : 8782701088
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827024931 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension

Read the passage given below and answer the question:

The Law Commission of India has advised against lowering the age of consent from the existing
18 years and suggested amendments to POCSO Act, 2012, by introducing guided juicial discretion
for sentencing cases involving ‘tacit approval’ of children who are 16-18 years. It cited courts
having observed that adolescents love cannot be controlled and that the criminal intention may
be missing in such consensual acts. Any decrease in age of consent would negatively impact the
age old fight against child marriage and coerce minor girls into subjugation, marital rape and
other forms of abuse, including trafficking.

Sub questions

Question Number : 146 Question Id : 87827024932 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The prevailing age of consent for consensual sexual activity among children is:
(1) 16years

(2) 16-18years

(3) 18 years

(4) less than 18 years

Options :



87827098421. 1
87827098422. 2
87827098423. 3

87827098424. 4

Question Number : 147 Question Id : 87827024933 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

This paragraph mainly deals with :
(I) Coercing minor girls
(2) Consent for sexual activity among children
(3) Child sexual activity
(4) Coercing minor boys
Options :
87827098425. 1
87827098426. 2
87827098427. 3
87827098428. 4

Question Number : 148 Question Id : 87827024934 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

According to the above paragraph, blanket criminalization of sexual activity among children
can be managed by :

(1) Amendment to POCSO
(2) Amendmentto]] Act

(3) Guided Judicial discretion
(4) Decrease of Age

Options :



87827098429. 1
87827098430. 2
87827098431. 3

87827098432. 4

Question Number : 149 Question Id : 87827024935 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
The Law Commission is arguing regarding which of the following ?
(1) For blanket criminalization of sexual activity among children.
(2) Against blanket criminalization of sexual activity among children.
(3) For consent for sexual activity
(4)  Against consent for sexual activity
Options :
87827098433. 1
87827098434, 2
87827098435. 3
87827098436. 4

Question Number : 150 Question Id : 87827024936 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which among the following is about inconsensual acts ?
(1) Actus Reus

(2) Consent of the boy

(3) Criminal Intention

(4) Consent of the girl

Options :

87827098437. 1



87827098438. 2
87827098439. 3

87827098440. 4

Question Id : 87827024931 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 87827024932 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el H Fenfas A wH o flt Fefd i aque | g A ©

(1) 16

(2) 1694 ¥ 18 4
(3) 18 =

(4) 189d ¥ &H

Options:



87827098421. 1
87827098422. 2
87827098423. 3

87827098424. 4

Question Number : 147 Question Id : 87827024933 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
g T geq: it § 9 fras e g ®
(1) renferes (STaa%R) afcishis] *1 qure
(2) oeteh/snferenedl | A %4 o fog weafd
(3) etk 1 4 HH
(4) STIIER dIcehl 1 THIET

Options :

87827098425. 1
87827098426. 2
87827098427. 3
87827098428. 4

Question Number : 148 Question Id : 87827024934 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827098429. 1

87827098430. 2

87827098431. 3

87827098432. 4

Question Number : 149 Question Id : 87827024935 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
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87827098433. 1
87827098434. 2
87827098435. 3
87827098436. 4

Question Number : 150 Question Id : 87827024936 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) Smuufeer e

(2) STcteh i HeHld

(3) SR 9

(4) @ferert st HeHfd
Options :

87827098437. 1
87827098438. 2
87827098439. 3
87827098440. 4



